A>DOMETIC

AIR CONDITIONERS

COOLAIR

SP950C

Fastening frame
for Iveco Stralis Hi-Way Euro 6
InstallationManual. .................... 5

Befestigungsrahmen
fiir Iveco Stralis Hi-Way Euro 6
Montageanleitung. .................... 9

Cadre de fixation
pour lveco Stralis Hi-Way Euro 6
Instructionsdemontage............... 13

Bastidor de fijacion
para lveco Stralis Hi-Way Euro 6
Instrucciones de montaje .............. 17

Estrutura de fixacdo
para lveco Stralis Hi-Way Euro 6
Instrugcdbes de montagem .............. 21

Telaio di fissaggio
per lveco Stralis Hi-Way Euro 6
Indicazioni di montaggio .............. 25

Bevestigingsframe
voor lveco Stralis Hi-Way Euro 6
Montagehandleiding ................. 29

Fastgorelsesramme
til Iveco Stralis Hi-Way Euro 6
Monteringsvejledning ................ 33

Fastram
for lveco Stralis Hi-Way Euro 6
Monteringsanvisning ................. 37

Festeramme

for Iveco Stralis Hi-Way Euro 6
Monteringsanvisning ................. 41
Kiinnityskehys

malliin lveco Stralis Hi-Way Euro 6
Asennusohje ............ ... ... ..... 45

KpenexHas pamka
ans lveco Stralis Hi-Way Euro 6
MHCTPYKUMA MO MOHTaXY . . . oo o vo v e en e 49

Rama mocujaca
do lveco Stralis Hi-Way Euro 6
Instrukcjamontazu ................... 54

Upevinovaci ram

pre lveco Stralis Hi-Way Euro 6
Navodnamontdz .................... 58
Upevinovaci ram

pro lveco Stralis Hi-Way Euro 6

Navodkmontdzi..................... 62
Rogzitokeret

Iveco Stralis Hi-Way Euro 6
Szerelésiutmutatd ............. ... ... 66






CoolAir SP950C







CoolAir SP950C Explanation of symbols

Please read this manual carefully before installing and starting up and
store it in a safe place. If the device is resold, this instruction manual must
be handed over to the purchaser along with the device.

Table of contents
1 Explanationofsymbols....... ... ... . . . . 5
2 Generalsafetyinstructions .. ....... ... ... . 6
3 Scopeofdelivery ... ... .. 6
4 Targetgroupforthismanual......... ... .. .. .. ... .. ... ... ... ....... 7
5 Intended use . . ... 7
6 Fittingthefasteningframe ...... ... .. .. . .. .. ... 7
7 GUAANEE .« .ttt 8

O B

Explanation of symbols

WARNING!
Safety instruction: Failure to observe this instruction can cause fatal or
serious injury.

CAUTION!
Safety instruction: Failure to observe this instruction can lead to injury.

NOTICE!
Failure to observe this instruction can cause material damage and impair
the function of the product.

NOTE
Supplementary information for operating the product.



General safety instructions CoolAir SP950C

2 General safety instructions

The manufacturer accepts no liability for damage in the following cases:
* Damage to the product resulting from mechanical influences and excess voltage
¢ Alterations to the product without express permission from the manufacturer

e Use for purposes other than those described in the operating manual

NOTICE!

The freedom of movement of semi-trailers (of the outer edges of the
semi-trailer when turning or jackknifing) and other vehicle attachments
must not be restricted.

NOTE
Observe the safety instructions in the installation manual for the CoolAir
SP950 parking cooler.

3 Scope of delivery

Installation kit for Iveco Stralis Hi-Way Euro 6,
ref. no. 9100300075

Quantity Designation Ref. number
1 Fastening frame 4442500826
1 Installation manual 4445101052
4 Bolt M8 x 35(8.8)
2 Bolt M8 x 35(10.9)
2 Bolt M8 x 40 (10.9)
16 U washer M8 (d1 = 8.4 mm, d2 =16 mm)
4 U washer M8 (d1 = 8.4 mm, d2 = 24 mm)
8 Nut M8, self-locking

Before starting the system, check that all the parts belonging to the scope of delivery
are present.



CoolAir SP950C Target group for this manual

4 Target group for this manual

The installation information in this manual is only intended for qualified personnel at
workshops, who are familiar with the guidelines and safety precautions to be applied
during the installation of vehicle accessory parts.

5 Intended use

The fastening rail is used for installing the SP950C condenser unit for the CoolAir
SP950 parking cooler to the following vehicles: Iveco Stralis Hi-Way Euro 6. The
fastening frame is attached on the right of the rear cab wall.

When fastening the fastening frame, use existing fastening points on the vehicle. You
do not need to drill new holes.

6 Fitting the fastening frame

NOTICE!
Observe the information in the installation manual when fitting the

CoolAir SP950 parking cooler.

NOTE
Operating instructions can be found in the operating manual for the
CoolAir SP950 parking cooler.

Basic assembly is described in fig. [, page 3:

Item Designation
1 Fastening frame
2 Condenser unit
3 Cover



Guarantee CoolAir SP950C

Install the fastening rail and the CoolAir SP950C condenser unit in the lveco Stralis
Hi-Way Euro 6 as follows:

NOTE
Only install the condenser unit after you have attached the mounting
frame on the rear wall of the truck.

» Insertand tighten the four M8 x 35 (8.8) bolts, eight M8 8.4 x 16 mm U washers
and four M8 retaining nuts (fig. [lll, page 3) in the mounting frame for the con-
denser unit.

» Remove the two M8 screws from the upper spoiler holder (fig. [ 1, page 4).

» Remove the two dummy plugs beneath the upper spoiler holder from the M8
drill holes.

» Fasten the upper part of the fastening frame on the upper spoiler holder with the
M8 x 40 (10.9) screws (fig. ] 1, page 4).

» Fasten the lower part of the fastening frame into the M8 drill holes now available
with the M8 x 35 (10.9) screws (fig. A 2, page 4).

» Putthe the four large M8 8.4 x 24 mm U washers as spacer discs onto the pro-
truding screws on the fastening frame (fig. [ 2, page 4).

» Place the condenser unit on the projecting bolts of the mounting frame and bolt
to the four U washers M8 8.4 x 16 mm and four M8 retaining nuts (fig. &,
page 4).

» Check that all bolts are still tight after travelling approximately 200 km.

7 Guarantee

The statutory warranty period applies. If the product is defective, please contact the
service partner in your country (addresses on the back on the instruction manual).

Our experts will be happy to help you and will discuss the warranty process with you
in more detail.



CoolAir SP950C Erklarung der Symbole

Bitte lesen Sie diese Anleitung vor Einbau und Inbetriebnahme sorgfiltig
und bewahren Sie sie auf. Geben Sie sie im Falle einer WeiterverdauBBerung
des Gerats an den Kaufer weiter.

Inhaltsverzeichnis
1 ErklarungderSymbole . ... ... .. .. . . 9
2 Allgemeine Sicherheitshinweise ......... ... ... ... ... ... ........ 10
3 Lieferumfang .. ... 10
4 Zielgruppedieser Anleitung . ....... ... . 11
5 BestimmungsgemaBer Gebrauch . ......... ... .. .. ... ... ... 11
6  Befestigungsrahmenmontieren. . ....... ... ... ... . ... . ... . ... ... 11
7 Gewahrleistung. . ... oo 12

O B

Erklarung der Symbole

WARNUNG!
Sicherheitshinweis: Nichtbeachtung kann zu Tod oder schwerer
Verletzung fuhren.

VORSICHT!
Sicherheitshinweis: Nichtbeachtung kann zu Verletzungen fihren.

ACHTUNG!
Nichtbeachtung kann zu Materialschaden fiihren und die Funktion des
Produktes beeintrachtigen.

HINWEIS
Erganzende Informationen zur Bedienung des Produktes.



Allgemeine Sicherheitshinweise CoolAir SP950C

2 Allgemeine Sicherheitshinweise

Der Hersteller Gbernimmt in folgenden Fallen keine Haftung fiir Schaden:

* Beschadigungen am Produkt durch mechanische Einfliisse und Uber-
spannungen

¢ Veranderungen am Produkt ohne ausdrickliche Genehmigung vom Hersteller

* Verwendung fir andere als die in der Anleitung beschriebenen Zwecke

ACHTUNG!
Die Bewegungsfreiheit von Aufliegern (die duBeren Kanten des

Aufliegers beim Einlenken oder Einknicken) und anderen Fahrzeug-
anbauten darf nicht eingeschrankt werden.

HINWEIS
Beachten Sie die Sicherheitshinweise in der Einbauanleitung zur Stand-
klimaanlage CoolAir SP950.

3 Lieferumfang

Montagesatz fur Iveco Stralis Hi-Way Euro 6,
Artikel-Nr. 9100300075

Menge Bezeichnung Artikelnummer
1 Befestigungsrahmen 4442500826
1 Montageanleitung 4445101052
4 Schraube M8 x 35 (8.8)
2 Schraube M8 x 35 (10.9)
2 Schraube M8 x 40 (10.9)

16 U-Scheibe M8 (d1 = 8,4 mm, d2 =16 mm)
4 U-Scheibe M8 (d1 = 8,4 mm, d2 = 24 mm)
14 Mutter M8, selbstsichernd

Prifen Sie vor Inbetriebnahme des Systems, ob alle zum Lieferumfang gehérenden
Teile vorhanden sind.

10



CoolAir SP950C Zielgruppe dieser Anleitung

4 Zielgruppe dieser Anleitung

Die Einbauinformationen in dieser Anleitung wenden sich ausschlieBlich an Fach-
leute in Werkstatten, die mit den anzuwendenden Richtlinien und Sicherheits-
vorkehrungen beim Einbau von Fahrzeugzubehorteilen vertraut sind.

5 BestimmungsgemaBer Gebrauch

Der Befestigungsrahmen dient zur Montage der Kondensatoreinheit SP950C von
der Standklimaanlage CoolAir SP950 an Fahrzeuge des Typs Iveco Stralis

Hi-Way Euro 6. Der Befestigungsrahmen wird rechts an der Fahrerhausrtickwand
montiert.

Bei der Befestigung des Befestigungsrahmens werden Originalbefestigungspunkte
am Fahrzeug verwendet. Sie muissen am Fahrzeug keine neuen Bohrungen
anfertigen.

6 Befestigungsrahmen montieren

ACHTUNG!
Beachten Sie beim Einbau auch die Informationen in der Einbau-

anleitung zur Standklimaanlage CoolAir SP950.

HINWEIS
Informationen zur Bedienung finden Sie in der Bedienungsanleitung zur
Standklimaanlage CoolAir SP950.

Die grundsatzliche Montage stellt Abb. [l Seite 3 dar:

Pos. Bezeichnung
1 Befestigungsrahmen
2 Kondensatoreinheit
3 Abdeckhaube

11



Gewabhrleistung CoolAir SP950C

Montieren Sie den Befestigungsrahmen und die Kondensatoreinheit
CoolAir SP950C am Iveco Stralis Hi-Way Euro 6 wie folgt:

HINWEIS
Montieren Sie die Kondensatoreinheit erst nach der Befestigung des
Befestigungsrahmens an der LKW-Riickwand.

» Zur Aufnahme der Kondensatoreinheit die vier Schrauben M8 x 35 (8.8), acht
U-Scheiben M8 8,4 x 16 mm und vier Sicherungsmuttern M8 (Abb. n Seite 3)
in den Befestigungsrahmen einsetzen und verschrauben.

» Die beiden Schrauben M8 von der oberen Spoilerhalterung entfernen
(Abb. A 1, Seite 4).

» Die beiden Blindstopfen unterhalb des oberen Spoilerhalters aus den M8-
Gewindebohrungen entfernen.

» Den oberen Teil des Befestigungsrahmens am oberen Spoilerhalter mit den
Schrauben M8 x 40 (10.9) befestigen (Abb. ﬂ 1, Seite 4).

» Den unteren Teil des Befestigungsrahmens in den zuvor freigelegten M8-
Gewindebohrungen mit den Schrauben M8 x 35 (10.9) befestigen (Abb. ﬂ 1,
Seite 4).

» Die vier groBen U-Scheiben M8 8,4 x 24 mm als Distanzscheiben auf die heraus-
stehenden Schrauben am Befestigungsrahmen schieben (Abb. ﬂ 2, Seite 4).

» Kondensatoreinheit auf die herausstehenden Schrauben am Befestigungs-
rahmen setzen und mit den vier U-Scheiben M8 8,4 x 16 mm und vier
Sicherungsmuttern M8 verschrauben (Abb. , Seite 4).

» Alle Schrauben nach einer Fahrstrecke von ca. 200 km auf festen Sitz
kontrollieren.

7 Gewabhrleistung

Es gilt die gesetzliche Gewahrleistungsfrist. Sollte das Produkt defekt sein, wenden
Sie sich bitte an einen Service-Partner in lhrem Land (Adressen siehe Rickseite der
Anleitung).

Unsere Spezialisten helfen Ihnen gerne weiter und besprechen mit lhnen den
weiteren Verlauf der Gewahrleistung.

12



CoolAir SP950C Explication des symboles

Veuillez lire ce manuel avec attention avant le montage et la mise en
service, puis le conserver. En cas de revente de I’appareil, veuillez le
transmettre au nouvel acquéreur.

Table des matiéeres

1

N OO o A WDN

=B B

Explicationdessymboles. ....... ... ... . . 13
Consignesde sécuritégénérales. . ......... ... .. ... . . 14
Contenudelalivraison .. ... . 14
Groupecibledecettenotice .. ......... .. .. . 15
Usageconforme . ... ... 15
Monter le cadredefixation. . .......... .. 15
Garantie. . .o 16

Explication des symboles

AVERTISSEMENT !
Consigne de sécurité : le non-respect de ces consignes peut entrainer
la mort ou de graves blessures.

ATTENTION !
Consigne de sécurité : le non-respect de ces consignes peut entrainer
des blessures.

AVIS!
Le non-respect de ces consignes peut entrainer des dommages
matériels et des dysfonctionnements du produit.

REMARQUE
Informations complémentaires sur |'utilisation du produit.

13



Consignes de sécurité générales CoolAir SP950C

2 Consignes de sécurité générales

Le fabricant décline toute responsabilité pour des dommages dans les cas suivants :
* desinfluences mécaniques et des surtensions ayant endommagé le matériel

¢ des modifications apportées au produit sans autorisation explicite de la part du
fabricant

* une utilisation différente de celle décrite dans la notice

AVIS!

® Veillez a ce que la liberté de mouvement des semi-remorques (les bords
extérieurs de la semi-remorque lors du braquage ou du pivotement) et
d'autres équipements du véhicule ne soit pas restreinte.

REMARQUE
Veuillez respecter les consignes de sécurité indiquées dans la notice de
montage du climatiseur auxiliaire CoolAir SP950.

3 Contenu de la livraison

Kit de montage pour Iveco Stralis Hi-Way Euro 6,
N° d"article 9100300075

Quantité Désignation Numéro d‘article
1 Cadre de fixation 4442500826
1 Instructions de montage 4445101052
4 Vis M8 x 35 (8.8)
2 Vis M8 x 35 (10.9)
2 Vis M8 x 40 (10.9)
16 Rondelle UMS8 (d1 = 8,4 mm, d2 =16 mm)
4 Rondelle UM8 (d1 = 8,4 mm, d2 = 24 mm)
8 Ecrou M8, autobloquant

Avant de mettre le systeme en service, vérifiez si toutes les pieces faisant partie de la
livraison ont bien été livrées.

14



CoolAir SP950C Groupe cible de cette notice

4 Groupe cible de cette notice

Les informations concernant le montage fournies par ce manuel s'adressent
exclusivement a un personnel qualifié, travaillant dans des ateliers et connaissant les
directives et les consignes de sécurité a appliquer pour le montage d’accessoires
dans les véhicules.

5 Usage conforme

Le cadre de fixation sert a monter |'unité du condenseur SP950C du climatiseur
auxiliaire CoolAir SP950 sur les véhicules du type Iveco Stralis Hi-Way Euro 6. Le
cadre de fixation est monté a gauche sur la paroi arriére de la cabine.

Lors de la fixation du cadre de fixation, utilisez les points de fixation d’origine au
niveau du véhicule. Il n"est pas nécessaire de procéder a de nouveaux per¢ages au
niveau du véhicule.

6 Monter le cadre de fixation

AVIS!
@ Lors du montage, tenez également compte des informations indiquées
dans la notice de montage du climatiseur auxiliaire CoolAir SP950.

REMARQUE
Vous trouverez des informations concernant ' utilisation dans le manuel
d'utilisation du climatiseur auxiliaire CoolAir SP950.

Le montage de base est représenté sur la fig. [, page 3

Pos. Désignation
1 Cadre de fixation
2 Condensateur
3 Cache de protection

15



Garantie CoolAir SP950C

Montez le cadre de montage et I'unité du condenseur CoolAir SP950C sur les
Iveco Stralis Hi-Way Euro 6 de la maniére suivante :

REMARQUE
Ne pas monter |'unité du condensateur avant d'avoir fixé le cadre de
fixation sur la paroi arriére du poids lourd.

» Pour mettre en place I'unité du condensateur, insérer et visser les quatre vis
M8 x 35 (8.8), les huit rondelles U M8 8,4 x 16 mm et les quatre écrous de
fixation M8 (fig. [, page 3) dans le cadre de fixation.

» Retirer les deux vis M8 du support supérieur du déflecteur (fig. [ 1, page 4).

» Retirer les deux boutons borgnes des alésages filetés M8 se trouvant sous le
support supérieur du déflecteur.

» Fixer la partie supérieure du cadre de fixation au niveau du support supérieur du
déflecteur, a I'aide des vis M8 x 40 (10.9) (fig. ﬂ 1, page 4).

» Fixer la partie inférieure du cadre de fixation dans les alésages filetés M8 libérés
précédemment, a l'aide des vis M8 x 35 (10.9) (fig. ﬂ 2, page 4).

» Pousser les quatre grandes rondelles U M8 8,4 x 24 mm sur les vis saillantes du
cadre de fixation, afin qu'elles servent de rondelles d'écartement (fig. B 2,
page 4).

» Placer|'unité du condensateur sur les vis saillantes du cadre de fixation et la visser
avec les quatre rondelles U M8 8,4 x 16 mm et les quatre écrous de fixation M8

(fig. 4, page 4).

» Contrélez la fixation de toutes les vis apres avoir parcouru un trajet de 200 km
env.

7 Garantie

Le délailégal de garantie s'applique. Sile produit s'avérait défectueux, veuillez vous
adresser a un de nos partenaires de service présent dans votre pays (voir adresses au
dos du présent manuel).

Nos spécialistes vous aideront avec plaisir et répondront a vos questions concernant
la suite de la procédure pour la garantie.

16



CoolAir SP950C Aclaracién de los simbolos

Lea atentamente estas instrucciones antes del montaje y de la puesta en
funcionamiento del aparato y consérvelas en un lugar seguro para futuras
consultas. En caso de vender o entregar el aparato a otra persona, entre-
gue también este manual.

indice
1 Aclaraciondelossimbolos. . ... i 17
2 Indicaciones generalesdeseguridad ........ ... .. .. ... ... .. 18
3 Volumendeentrega. ...... ... 18
4 Destinatarios de estasinstrucciones . ......... . ... . i i 19
5 Usoadecuado. .. ..o 19
6 Montarel bastidordefijacion. . ........ ... 19
7 Garantialegal ... ... 20

1

Sl 4l <

Aclaracion de los simbolos

iADVERTENCIA!
Indicacion de seguridad: su incumplimiento puede acarrear la
muerte o graves lesiones.

{ATENCION!
Indicacion de seguridad: su incumplimiento puede acarrear
lesiones.

jAVISO!
Suincumplimiento puede acarrear danos materiales y perjudicar el
correcto funcionamiento del producto.

NOTA
Informacién adicional para el manejo del producto.

17



Indicaciones generales de seguridad CoolAir SP950C

2 Indicaciones generales de seguridad

El fabricante declina toda responsabilidad ante dafos ocurridos en los siguientes
Casos:

* dafos en el producto debido a influencias mecéanicas y sobretensiones

* modificaciones realizadas en el producto sin el expreso consentimiento del
fabricante

e utilizacién del aparato para fines distintos a los descritos en las instrucciones

jAVISO!
La libertad de movimientos del semirremolque (los bordes exteriores

del semirremolque al tomar una curva o doblar una esquina) y de otros
accesorios montados en el vehiculo no debe quedar mermada.

NOTA

Tenga en cuenta las indicaciones de seguridad en las instrucciones de
montaje del equipo de aire acondicionado para funcionamiento con
motor parado CoolAir SP950.

3 Volumen de entrega

Juego de montaje para Iveco Stralis Hi-Way Euro 6,
n.° deart. 9100300075

Cantidad Denominacién Numero de articulo
1 Bastidor de fijacion 4442500826
1 Instrucciones de montaje 4445101052
4 Tornillo M8 x 35 (8.8)
2 Tornillo M8 x 35 (10.9)
2 Tornillo M8 x 40 (10.9)

-

6 Arandelaen UM8 (d1 =8,4 mm, d2 =16 mm)
4 Arandela en UMS8 (d1 = 8,4 mm, d2 = 24 mm)
8

Tuerca M8 autofijadora

Antes de poner en funcionamiento el sistema, compruebe si ha recibido todas las
piezas.

18



CoolAir SP950C Destinatarios de estas instrucciones

4 Destinatarios de estas instrucciones

La informacion referente a la instalacién incluida en estas instrucciones va dirigida
exclusivamente al personal técnico de talleres familiarizado con las directivas y
medidas de seguridad que se hayan de aplicar durante la instalaciéon de accesorios
de vehiculos.

5 Uso adecuado

El bastidor de sujecién sirve para montar la unidad de condensador SP950C del
equipo de aire acondicionado para funcionamiento con motor parado

CoolAir SP950 en vehiculos del tipo Iveco Stralis Hi-Way Euro 6. El bastidor de
fijacion se monta a la derecha en la pared trasera de la cabina del conductor.

Paralafijacion del bastidor de fijacidn se utilizan los puntos de sujecién originales del
vehiculo. No es necesario realizar mas perforaciones en el vehiculo.

6 Montar el bastidor de fijacion

jAVISO!
Durante el montaje tenga también en cuenta la informacién relativa al

montaje del equipo de aire acondicionado para funcionamiento con
motor parado CoolAir SP950.

NOTA

Encontrard mas informacién sobre el manejo en las instrucciones de uso
del equipo de aire acondicionado para funcionamiento a motor parado
CoolAir SP950.

La fig. [, pagina 3 representa el montaje basico:

Pos. Denominacién
1 Bastidor de fijacion
2 Condensador
3 Cubierta

19



Garantia legal CoolAir SP950C

Monte el bastidor de sujecién y la unidad de condensador CoolAir SP950C en
Iveco Stralis Hi-Way Euro 6 de la siguiente manera:

NOTA
Una vez fijado el bastidor de fijacién a la pared trasera del camion,
monte el condensador.

» Para alojar el condensador, coloque y apriete los cuatro tornillos M8 x 35 (8.8),
las ocho arandelas en U M8 8,4 x 16 mm y las cuatro tuercas de seguridad M8
(fig. |, pagina 3) en el bastidor de fijacién.

» Retire los dos tornillos M8 del soporte del spoiler superior (fig. A 1, pagina 4).

» Retire de los orificios roscados M8 los dos tapones ciegos que se encuentran
debajo del soporte del spoiler superior.

» Fije la parte superior del bastidor de fijacién del soporte del spoiler superior con
los tornillos M8 x 40 (10.9) (fig. ﬂ 1, pagina 4).

» Con los tornillos M8 x 35 (10.9), fije la parte inferior del bastidor de fijacién a los
orificios roscados M8 previamente despejados (fig. [ 2, pagina 4).

» Coloque las cuatrosarandelasen U grandes de M8 8,4 x 24 mm como arandelas
distanciadoras sobre los tornillos sueltos del bastidor de sujecién (fig. [H 2,
pagina 4).

» Coloque el condensador con sus tornillos sueltos en el bastidor de fijacién y
apriételos con las cuatro arandelas en U M8 8,4 x 16 mm y las cuatro tuercas de
seguridad M8 (fig. [, pagina 4).

» Una vezrecorridos aprox. 200 km, compruebe que todos los tornilllos sigan
estando firmemente sujetos.

7 Garantia legal

Rige el plazo de garantia legal. Si el producto presenta algun defecto, dirijase a
nuestro socio de servicio en su pais (ver direcciones en el dorso de este manual).

Nuestros especialistas estaran encantados de poder ayudarle y de poder orientarle
en los siguientes pasos a dar respecto a la garantia.

20



CoolAir SP950C Explicacdo dos simbolos

Por favor, leia atentamente este manual antes da montagem e colocacao
em funcionamento e guarde-o num local seguro. Em caso de revenda do
aparelho, entregue o manual ao novo comprador.

indice
1 Explicagdodossimbolos . ....... ... 21
2 Indicagdes geraisde seguranGa. .. ...t 22
3 Materialfornecido. . ... 22
4 Destinatariosdo presentemanual .............. .. . 23
5 Utilizagdoadequada. ...t 23
6 Montaraestruturadefixacdo. ...... .. 23
7Garantia. 24

=B B

Explicacao dos simbolos

AVISO!
Indicagdao de seguranca: o incumprimento pode provocara morte ou
ferimentos graves.

PRECAUGAO!
Indicagdao de seguranga: o incumprimento pode provocar
ferimentos.

NOTA!
O incumprimento pode causar danos materiais e pode prejudicar o
funcionamento do produto.

OBSERVAGAO
Informacgdes suplementares sobre a operacdo do produto.

21



Indicagcbes gerais de seguranca CoolAir SP950C

2 Indicacoes gerais de seguran¢a

O fabricante nao se responsabiliza por danos nos seguintes casos:
¢ Danos no produto resultantes de influéncias mecanicas e sobretensdes
¢ Alteragdes ao produto sem autorizacdo expressa do fabricante

e Utilizacdo para outras finalidades que ndo as descritas no manual de instrugcdes

NOTA!
A liberdade de movimentos dos atrelados (as arestas exteriores do atre-
lado ao virar ou manobrar) e outros reboques nao pode ficar limitada.

OBSERVAGAO
Respeite as indicagdes de segurancga nas instrugdes de montagem do
sistema de ar condicionado standard CoolAir SP950.

3 Material fornecido

Kit de montagem para Iveco Stralis Hi-Way Euro 6,
n.cart. 9100300075

Quant. Designac¢ao Numero de artigo
1 Estrutura de fixagdo 4442500826
1 Instrugdes de montagem 4445101052
4 Parafuso M8 x 35 (8.8)
2 Parafuso M8 x 35 (10.9)
2 Parafuso M8 x 40 (10.9)
16 Discoem UMS8 (d1=8,4mm, d2 =16 mm)
4 Discoem UMS8 (d1= 8,4 mm, d2 =24 mm)
8 Porca M8, auto-bloqueante

Antes da colocagdo em funcionamento do sistema, verifique se ndo faltam pegas no
material fornecido.

22



CoolAir SP950C Destinatarios do presente manual

4 Destinatarios do presente manual

As informagdes de montagem deste manual foram especialmente concebidas para
técnicos em oficinas, que estdo familiarizados com as diretivas a aplicar e medidas
de seguranca durante a montagem de acessorios para veiculos.

5 Utilizacao adequada

A estrutura de fixacdo destina-se a montagem da unidade de condensagao SP950C
do sistema de ar condicionado CoolAir SP950 para veiculos do tipo Iveco Stralis
Hi-Way Euro 6. A estrutura de fixacdo é montada a direita na parede exterior da
cabine do condutor.

Aquando da fixagdo da estrutura de fixagdo, sdo utilizados os pontos de fixagdo
originais no veiculo. Ndo é necessaria fazer novos furos no veiculo.

6 Montar a estrutura de fixacao

NOTA!

Durante a montagem, respeite também as indicagdes que constam nas
instrugoes de montagem do sistema de ar condicionado CoolAir
SP950.

OBSERVAGCAO
Encontra informagdes sobre a operacdo no manual de instrugdes do
sistema de ar condicionado standard CoolAir SP950.

A montagem geral representa fig. [, pagina 3:

Pos. Designac¢ao
1 Estrutura de fixacdo
2 Unidade de condensacao
3 Cobertura

23



Garantia CoolAir SP950C

Monte a estrutura de fixacdo e a unidade de condensacédo CoolAir SP950 no
Iveco Stralis Hi-Way Euro 6 da seguinte forma:

OBSERVAGCAO
Monte a unidade de condensagdo apenas apds a fixacao da estrutura de
fixacdo na parte traseira do camiao.

» Para arecep¢do da unidade de condensagdo, insira e aparafuse na estrutura de
fixacdo os quatro parafusos M8 x 35 (8.8), os oito discos em U M8 8,4 x 16 mm
e as quatro porcas de fixacio M8 (fig. [, pagina 3).

» Retirar ambos os parafusos M8 do suporte do spoiler (fig. B 1, pagina 4).

» Retirar ambos os bujées cegos em cima do suporte do spoiler para fora das per-
furacdes da rosca M8.

» Fixar a parte de cima da estrutura de fixagdo no suporte do spoiler superior com
os parafusos M8 x 40 (10.9) (fig. ﬂ 1, pégina 4).

» Fixar a parte baixo da estrutura de fixagdo nas perfuragdes da rosca M8 anterior-
mente destapadas com os parafusos M8 x 35 (10.9) (fig. A} 2, pagina 4).

» Empurre os quatro discos em U grandes M8 8,4 x 24 mm como discos
distanciadores sobre os parafusos salientes na estrutura de fixac3o (fig. [F 2,
pagina 4).

» Coloque aunidade de condensagao sobre os parafusos salientes na estrutura de
fixagdo e aparafuse a mesma com os discos em U M8 8,4 x 16 mm e quatro por-
cas de fixacdo M8 (fig. [, pagina 4).

» Controle todos os parafusos apds um percurso de marcha de aprox. 200 km
quanto a sua fixagdo.

7 Garantia

E vélido o prazo de garantia legal. Se o produto estiver com defeito, por favor,
dirija-se a assisténcia técnica do seu pais (enderecos, ver verso do manual).

Os nossos técnicos tém todo o gosto em ajuda-lo e aconselha-lo durante o processo
dos direitos de garantia.

24



CoolAir SP950C Spiegazione dei simboli

Prima di effettuare il montaggio e la messa in funzione leggere accu-
ratamente questo manuale di istruzioni, conservarlo e in caso di rivendita
dell’apparecchio consegnarlo al cliente successivo.

Indice
1 Spiegazionedeisimboli......... ... ... . . ... 25
2 Indicazionidisicurezzagenerali. ......... ... ... 26
3 Dotazione . ... 26
4 Destinataridiquesteistruzioni . ........... ... . 27
5 Usoconformealladestinazione . ..., 27
6 Montaggiodeltelaio ....... ... .. .. . 27
7 GaAranZia . 28

Spiegazione dei simboli

AVVERTENZA!
Awviso di sicurezza: la mancata osservanza di questo avviso puo causare
ferite gravi anche mortali.

ATTENZIONE!
Avviso di sicurezza: la mancata osservanza di questo avviso puo
essere causa di lesioni.

AVVISO!
La mancata osservanza di questa nota puo causare danni materiali e
compromettere il funzionamento del prodotto.

SA 4 2

NOTA
Informazioni integranti relative all'impiego del prodotto.

25



Indicazioni di sicurezza generali CoolAir SP950C

2 Indicazioni di sicurezza generali

Il produttore non si assume nessuna responsabilita per danni nei seguenti casi:
e dannial prodotto dovuti a influenze meccaniche o a sovratensioni
* modifiche al prodotto senza esplicita autorizzazione del produttore

* impiego per altri fini rispetto a quelli descritti nel manuale di istruzioni

AVVISO!
La liberta di movimento dei semirimorchi (gli spigoli esterni del

semirimorchio in caso di sterzata e sbandamento laterale) e di altri
attacchi al veicolo non deve essere limitata.

NOTA
Osservare le indicazioni di sicurezza comprese nelle istruzioni di
montaggio del climatizzatore a motore spento CoolAir SP950.

3 Dotazione

Set di montaggio per Iveco Stralis Hi-Way Euro 6,
n.art. 9100300075

Quantita Denominazione Numero articolo
1 Telaio di fissaggio 4442500826
1 Indicazioni di montaggio 4445101052
4 Vite M8 x 35 (8.8)
2 Vite M8 x 35 (10.9)
2 Vite M8 x 40 (10.9)
16 Rondellaa UM8 (d1=8,4mm, d2 =16 mm)
4 Rondellaa UMS8 (d1=8,4mm, d2 =24 mm)
8 Dado M8, autobloccante

Prima della messa in funzione del sistema, assicurarsi che tutti gli elementi siano in
dotazione.

26



CoolAir SP950C Destinatari di queste istruzioni

4 Destinatari di queste istruzioni

Le informazioni sull’installazione contenute in questo manuale si rivolgono esclusiva-
mente a tecnici specializzati di officine a conoscenza delle direttive e delle
disposizioni sulla sicurezza da adottare durante 'installazione degli accessori del
veicolo.

5 Uso conforme alla destinazione

Il telaio di fissaggio serve al montaggio dell’unita di condensazione SP950C del
climatizzatore a motore spento CoolAir SP950 a veicoli del tipo Iveco Stralis
Hi-Way Euro 6. Il telaio di fissaggio € montato a destra della parte posteriore della
cabina di guida.

Per fissare il telaio di fissaggio, utilizzare punti di fissaggio originali del veicolo. Non
& necessario eseguire nuovi fori.

6 Montaggio del telaio

AVVISO!
Durante il montaggio, attenersi anche alle informazioni contenute nelle

istruzioni di montaggio del climatizzatore a motore spento CoolAir
SP950.

NOTA
Le informazioni relative all'uso sono contenute nel manuale di istruzioni
per I'uso del climatizzatore a motore spento CoolAir SP950.

Il montaggio di base é raffigurato in fig. [, pagina 3:

Pos. Denominazione
1 Telaio difissaggio
2 Unita di condensazione
3 Calotta di protezione

27



Garanzia CoolAir SP950C

Montare il telaio di fissaggio e I'unita del condensatore CoolAir SP950C al
Iveco Stralis Hi-Way Euro 6 nel modo seguente:

NOTA
Montare I'unita di condensazione solamente dopo aver fissato il telaio di
fissaggio sulla parete posteriore dell'autocarro.

» Perl'applicazione dell'unita di condensazione inserire le quattro viti M8 x 35
(8.8), le otto rondelle a U M8 8,4 x 16 mm e i quattro dadi di bloccaggio M8
(fig. |, pagina 3) nel telaio di fissaggio e awvitare.

» Rimuovere entrambe le viti M8 dal supporto dello spoiler superiore (fig. A 1,
pagina 4).

» Rimuovere entrambi i tappi ciechi posti sotto il supporto dello spoiler superiore
dai fori maschiati M8.

» Fissare la parte superiore del telaio di fissaggio sul supporto dello spoiler
superiore con le viti M8 x 40 (10.9) (fig. ﬂ 1, pagina 4).

» Fissare la parte inferiore del telaio di fissaggio nei fori maschiati M8
precedentemente liberati con le viti M8 x 35 (10.9) (fig. ﬂ 2, pagina 4).

» Inserire le 4 grandi rondelle a U M8 8,4 x 24 mm come rondelle distanziatrici
sulle viti che sporgono dal telaio di fissaggio (fig. A 2, pagina 4).

» Porre |'unita di condensazione sulle viti sporgenti sopra il telaio di fissaggio
e avvitare con le quattro rondelle a U M8 8,4 x 16 mm e i quattro dadi di
bloccaggio M8 (fig. [, pagina 4).

» Ogni 200 km ca. diviaggio, controllare che tutte le viti siano stabili.

7 Garanzia

Vale il termine di garanzia previsto dalla legge. Qualora il prodotto risultasse
difettoso, La preghiamo di contattare il Service Partner del Suo Paese (I'indirizzo si
trova sul retro del manuale).

| nostri specialisti sono sempre pronti ad aiutarvi e a concordare con Voi |'ulteriore
disbrigo delle condizioni garanzia.

28



CoolAir SP950C Verklaring van de symbolen

Lees deze handleiding voor de montage en ingebruikname zorgvuldig
door en bewaar deze. Geef de gebruiksaanwijzing bij doorverkoop van
het toestel door aan de koper.

Inhoudsopgave
1 Verklaringvandesymbolen......... .. ... .. ... . ... .. .. ... ... ..., 29
2 Algemene veiligheidsaanwijzingen. ......... ... ... .. ... ... ... ... 30
3 Omvangvandelevering ............ o 30
4 Doelgroepvandeze handleiding ......... ... ... .. ... ... ... .. ..., 31
5 Gebruikvolgensbestemming . .......... .. 31
6 Bevestigingsframemonteren .. ... ... 31
7 Garantie. 32

1

P B

Verklaring van de symbolen

WAARSCHUWING!
Veiligheidsaanwijzing: Het niet naleven kan leiden tot overlijden of
ernstig letsel.

VOORZICHTIG!
Veiligheidsaanwijzing: Het niet naleven kan leiden tot letsel.

LET OP!
Het niet naleven ervan kan leiden tot materiéle schade en de werking
van het product beperken.

INSTRUCTIE
Aanvullende informatie voor het bedienen van het product.

29



Algemene veiligheidsaanwijzingen CoolAir SP950C

2

Algemene veiligheidsaanwijzingen

De fabrikant kan in de volgende gevallen niet aansprakelijk worden gesteld voor

schade:

* beschadiging van het product door mechanische invloeden en overspanningen

¢ veranderingen aan het product zonder uitdrukkelijke toestemming van de
fabrikant

* gebruik voor andere dan de in de handleiding beschreven toepassingen

@

3

LET OP!

De bewegingsvrijheid van opleggers (de buitenste randen van de
oplegger bij het sturen of inknikken) en andere aangebouwde
voertuigonderdelen mag niet worden beperkt.

INSTRUCTIE
Neem de veiligheidsaanwijzingen in achtin de inbouwhandleiding voor
de standairco CoolAir SP950.

Omvang van de levering

Montageset voor Iveco Stralis Hi-Way Euro 6,
artikelnr. 9100300075

Aantal
1
1

4
2
2

-

6
4
8

Omschrijving Artikelnummer
Bevestigingsframe 4442500826
Montagehandleiding 4445101052

Schroef M8 x 35 (8.8)
Schroef M8 x 35 (10.9)
Schroef M8 x 40 (10.9)

U-ring M8 (d1 = 8,4 mm, d2 =16 mm)
U-ring M8 (d1 = 8,4 mm, d2 = 24 mm)
Moer M8, zelfborgend

Controleer voor de ingebruikname van het systeem of alle bij de levering
inbegrepen onderdelen aanwezig zijn.

30



CoolAir SP950C Doelgroep van deze handleiding

4 Doelgroep van deze handleiding

De montage-informatie in deze handleiding richt zich tot vakpersoneel in werk-
plaatsen die met de toe te passen richtlijnen en veiligheidsmaatregelen bij de
montage van toebehoren voor voertuigen vertrouwd zijn.

5 Gebruik volgens bestemming

Het bevestigingsframe is bedoeld voor de montage van de condensatoreenheid
SP950C van de standairco CoolAir SP950 op voertuigen van het type Iveco Stralis
Hi-Way Euro 6. Het bevestigingsframe wordt rechts aan de achterzijde van de
bestuurderscabine gemonteerd.

Bij de bevestiging van het bevestigingsframe worden originele bevestigingspunten
aan het voertuig gebruikt. U hoeft aan het voertuig geen nieuwe boringen aan te
brengen.

6 Bevestigingsframe monteren

LET OP!
Let bij de montage ook op de informatie in de inbouwhandleiding voor
de standairco CoolAir SP950.

INSTRUCTIE
Informatie over de bediening vindt u in de bedieningshandleiding van
de standairco CoolAir SP950.

Het principe van de montage wordt weergegeven in afo. [, pagina 3:

Pos. Omschrijving
1 Bevestigingsframe
2 Condensatoreenheid
3 Afdekkap

31



Garantie CoolAir SP950C

Monteer het bevestigingsframe en de condensatoreenheid CoolAir SP950C als
volgt op Iveco Stralis Hi-Way Euro 6:

INSTRUCTIE
Monteer de condensatoreenheid pas na het bevestigen van het
bevestigingsframe aan de achterwand van de vrachtwagen.

» Voor de opname van de condensatoreenheid de vier schroeven M8 x 35 (8.8),
acht U-schijven M8 8,4 x 16 mm en vier borgmoeren M8 (afo. [, pagina 3) in
het bevestigingsframe plaatsen en vastschroeven.

» De beide schroeven M8 van de bovenste spoilerhouder verwijderen (afo. [ 1,
pagina 4).

» De beide blinde stoppen onder de bovenste spoilerhouder uit de M8-draad-
boringen verwijderen.

» Het bovenste deel van het bevestigingsframe van de bovenste spoilerhouder
met de schroeven M8 x 40 (10.9) bevestigen (afb. ﬂ 1, pagina 4).

» Het onderste deel van het bevestigingsframe in de eerder blootgelegde M8-
draadboringen met de schroeven M8 x 35 (10.9) bevestigen (afb. ﬂ 2,
pagina 4).

» De vier grote onderlegringen M8 8,4 x 24 mm als afstandsschijven op de uit-
stekende schroeven van het bevestigingsframe schuiven (afb. A 2, pagina 4).

» Condensatoreenheid op de uitstekende schroeven aan het bevestigingsframe
plaatsen en met de vier U-schijven M8 8,4 x 16 mm en vier borgmoeren M8 vast-
schroeven (afb. , pagina 4).

» Na een gereden traject van ca. 200 km controleren of alle schroeven goed
vastzitten.

7 Garantie

De wettelijke garantieperiode is van toepassing. Indien het product defect is, dient
u contact op te nemen met een servicepartner in uw land (zie achterzijde van de
gebruiksaanwijzing voor adressen).

Onze specialisten helpen u graag verder en bespreken het verdere verloop van de
garantie met u.

32



CoolAir SP950C Forklaring af symbolerne

Laes denne vejledning omhyggeligt for installation og ibrugtagning, og
opbevar den. Giv den til keberen, hvis du slger apparatet.

Indholdsfortegnelse
1 Forklaringafsymbolerne ........ ... .. ... . . ... .. ... 33
2 Generelle sikkerhedshenvisninger. .......... ... ... ... L. 34
3 leveringsomfang. . ... 34
4 Malgruppefordennevejledning . ........... ... .. .. . 35
5 Korrektbrug . ... 35
6  Montering af fastgarelsesrammen . ............. ... L 35
7 Garant . 36

=B B

Forklaring af symbolerne

ADVARSEL!
Sikkerhedshenvisning: Manglende overholdelse kan medfere ded
eller alvorlig kvaestelse.

FORSIGTIG!
Sikkerhedshenvisning: Manglende overholdelse kan medfere
kvaestelser.

VIGTIGT!
Manglende overholdelse kan medfere materielle skader og begraense
produktets funktion.

BEMZRK
Supplerende informationer om betjening af produktet.

33



Generelle sikkerhedshenvisninger CoolAir SP950C

2 Generelle sikkerhedshenvisninger

Producenten patager sig intet ansvar for skader i falgende tilfaelde:
* Beskadigelser pa produktet pa grund af mekanisk pavirkning og overspaending
e /ndringer pa produktet uden udtrykkelig tilladelse fra producenten

* Anvendelse til andre formal end dem, der er beskrevet i vejledningen

VIGTIGT!
Bevaegelsesfriheden for seettevogne (saettevognens yderste kanter, nar
der drejes) og andre udbygninger pa karetagjet ma ikke begraenses.

BEMZRK
Overhold sikkerhedshenvisningerne i installationsvejledningen til stand-
klimaanleegget CoolAir SP950.

3 Leveringsomfang

Monteringsseet til Iveco Stralis Hi-Way Euro 6,
art.nr. 9100300075

Mzengde Betegnelse Artikelnummer
1 Fastgerelsesramme 4442500826
1 Monteringsvejledning 4445101052
4 Skrue M8 x 35 (8.8)
2 Skrue M8 x 35 (10.9)
2 Skrue M8 x 40 (10.9)

j—

6 Spaendeskive M8 (d1 = 8,4 mm, d2 =16 mm)
4 Spaendeskive M8 (d1 = 8,4 mm, d2 = 24 mm)
8 Matrik M8, selvlasende

Kontrollér far ibrugtagning af systemet, om alle delene er indeholdt i
leveringsomfanget.

34



CoolAir SP950C Malgruppe for denne vejledning

4 Malgruppe for denne vejledning

Installationsinformationerne i denne vejledning henvender sig udelukkende til fag-
folk i veerksteder, der kender forskrifterne og sikkerhedsforanstaltningerne, der skal
anvendes ved installation af tilbeharsdele til karetgjer.

5 Korrekt brug

Fastgaerelsesrammen anvendes til at montere kondensatorenheden SP950C fra
standklimaanlaegget CoolAir SP950 pa kaeretgjer af typen lveco Stralis
Hi-Way Euro 6. Fastgarelsesrammen monteres til hgjre pa karetgjets bagveeg.

Ved fastgerelsen af fastgarelsesrammen anvendes der originale fastgerelsespunkter
pa keretgjet. Der skal ikke bores nye huller i karetgjet.

6 Montering af fastgerelsesrammen

VIGTIGT!
Veer ogsa opmaerksom pa oplysningerne i installationsvejledningen til
standklimaanlzegget CoolAir SP950 ved installationen.

BEMZRK
Oplysninger om betjeningen findes i betjeningsvejledningen til stand-
klimaanleegget CoolAir SP950.

Den grundlaeggende montering vises pa fig. [}, side 3:

Pos. Betegnelse
1 Fastgarelsesramme
2 Kondensatorenhed
3 Afskeermning

35



Garanti CoolAir SP950C

Montér fastgarelsesrammen og kondensatorenheden CoolAir SP950C pa Iveco
Stralis Hi-Way Euro 6 pa felgende made:

BEMZRK
Montér farst kondensatorenheden, nar fastgerelsesrammen er fastgjort
pa lastbilens bagveeg.

» Til at holde kondensatorenheden skal de fire skruer M8 x 35 (8.8), otte spaende-
skiver M8 8,4 x 16 mm og fire sikringsmatrikker M8 (fig. [ll, side 3) seettes i
fastgarelsesrammen og skrue fast.

» Fjern de to skruer M8 fra den gverste spoilerholder (fig. [ 1, side 4).

» Fjern de to blindpropper under den gverste spoilerholder fra M8-gevind-
boringerne.

» Fastger den gverste del af fastgerelsesrammen pa den gverste spoilerholder
med skruerne M8 x 40 (10.9) (fig. ﬂ 1, side 4).

» Fastger de nederste del af fastgerelsesrammen i M8-gevindboringerne, der er
blevet blotlagt forinden, med skruerne M8 x 35 (10.9) (fig. ﬂ 2, side 4).

» Skub de fire store spaendeskiver M8 8,4 x 24 mm pa som afstandsskiver pa
skruerne, der er rager ud pa fastgerelsesrammen (fig. B 2, side 4).

» Seaetkondensatorenheden pa skruerne, der rager ud pa fastgarelsesrammen, og
skru den fast med de fire spaendeskiver M8 8,4 x 16 mm og fire sikringsmgtrikker
M8 (fig. [, side 4).

» Kontrollér efter en karestraekning pa ca. 200 km, at alle skruer sidder fast.

7 Garanti

Den lovbestemte garantiperiode geelder. Hvis produktet er defekt, skal du kontakte
en servicepartner i dit land (adresser, se vejledningens bagside).

Vores specialister hjaelper gerne videre og diskuterer garantiens videre forlgb.

36



CoolAir SP950C Forklaring till symboler

Las igenom anvisningarna noga innan apparaten monteras och anvands.
Spara monterings- och bruksanvisningen fér senare bruk. Overlamna
bruksanvisningen till den nya dgaren vid ev. vidareférsaljning.

Innehallsférteckning

1 Foérklaringtillsymboler . ... . . 37
2 Allmanna sékerhetsanvisningar ......... ... ... ... .. .. 38
3 leveransomfattning. . ....... .. . . 38
A MaAIGIUDP. « et 39
5 Andamalsenliganvandning .. ............i i 39
6  Monterafastramen . ... 39
7 Garant . 40

Forklaring till symboler

VARNING!
Observera: Beaktas anvisningen ej kan det leda till dodsfara eller svara
skador.

AKTA!
Observera: Beaktas anvisningen ej kan det leda till kroppsskador.

OBSERVERA!
Om anvisningarna inte beaktas kan det leda till materialskador och
produktens funktion kan paverkas negativt.

O B

ANVISNING
Kompletterande information om anvandning av produkten.

37



Allménna sakerhetsanvisningar CoolAir SP950C

2 Allmanna sakerhetsanvisningar

Tillverkaren évertar inget ansvar for skador i féljande fall:

* skador pa produkten, orsakade av mekanisk paverkan eller dverspanning
e andringar som utforts utan uttryckligt medgivande fran tillverkaren

* gjandamalsenlig anvandning

OBSERVERA!
Slapvagnarnas rorelser (vagnens ytterkanter vid kérning runt kurvor eller

svangning) och andra pabyggnadsdelars rérelser far inte hindras.

ANVISNING
Observera sakerhetsanvisningarna i monteringsanvisningen till den
motoroberoende klimatanlaggningen CoolAir SP950.

3 Leveransomfattning

Monteringssats for lveco Stralis Hi-Way Euro 6,
artikelnummer 9100300075

Miangd Beteckning Artikelnummer
1 fastram 4442500826
1 monteringsanvisning 4445101052
4 skruv M8 x 35 (8.8)
2 skruv M8 x 35 (10.9)
2 skruv M8 x 40 (10.9)
16 U-bricka M8 (d1 = 8,4 mm, d2 =16 mm)
4 U-bricka M8 (d1 = 8,4 mm, d2 = 24 mm)
8 mutter M8, sjalviasande

Kontrollera, innan systemet tas i drift, att inga delar saknas.

38



CoolAir SP950C Malgrupp

4 Malgrupp

Monteringsinformationen riktar sig endast till behoériga installatorer i verkstader
som har kannedom om gallande direktiv/féreskrifter och sakerhetsatgarder vid
montering av fordonstilloehor.

5  Andamalsenlig anvindning

Fastramen anvands for att montera kondensatorenheten SP950C fran den motoro-
beroende klimatanlaggningen CoolAir SP950 pa fordon av typen Iveco Stralis
Hi-Way Euro 6. Fastramen monteras pa hoger sida pa férarhyttens bakre vagg.

For fastsattning av fastramen anvands befintliga fastpunkter pa fordonet. Det ar inte
noédvandigt att borra nya hal pa fordonet.

6 Montera fastramen

OBSERVERA!
Observera aven informationen i monteringsanvisningen till den motoro-

beroende klimatanlaggningen CoolAir SP950.

ANVISNING
Information om anvandning finns i bruksanvisningen till den motoro-
beroende klimatanlaggningen CoolAir SP950.

Principiellt visas monteringen pa bild [}, sida 3:

Pos. Beteckning
1 fastram
2 kondensorenhet
3 tackkapa

39



Garanti CoolAir SP950C

Tillvadgagangssatt for montering av fastramen och kondensatorenheten
CoolAir SP950C pa Iveco Stralis Hi-Way Euro 6:

ANVISNING
Montera inte kondensorenheten innan du har monterat fastramen pa
lastbilens bakre vagg.

» For att kunna montera kondensorenheten satter man fast fyra skruvar M8 x 35
(8.8), atta U-brickor M8 8,4 x 16 mm och fyra lasmuttrar M8 (bild n sida 3) i
fastramen och skruvar fast dem.

» Avlagsna de bada M8-skruvarna fran spoilerns 6vre hallare (bild ﬂ 1, sida 4).
» Ta ut de bada blindpluggarna under spoilerns évre hallare ur M8-ganghalen.

» Fastmonteringsramens 6vre del pa spoilerns évre hallare med skruvarna M8 x 40
(10.9) (bild B 1, sida 4).

» Anvand skruvarna M8 x 35 (10.9) (bild ﬂ 2, sida 4) och fast monteringsramens
nedre del i M8-ganghalen som blindpluggara avlagsnades ur.

» Skjut dit de fyra stora U-brickorna M8 8,4 x 24 mm som distansbrickor pa de
utstdende skruvarna pa monteringsramen (bild ﬂ 2, sida4).

» Satt kondensorenheten pa de utstaende skruvarna pa fastramen och skruva fast
den med fyra U-brickor M8 8,4 x 16 mm och fyra lasmuttrar M8 (bild , sida 4).

» Kontrollera att skruvarna sitter fast ordenligt nar fordonet har korts ca 200 km.

7 Garanti

Den lagstadgade garantitiden galler. Om produkten ar defekt: kontakta en service-
partner i ditt land (adresser, se bruksanvisningens baksida).

Vara specialister star garna till forfogande och forklarar hur garantidrenden
behandlas.

40



CoolAir SP950C Symbolforklaringer

Les bruksanvisningen noye for du monterer og tar apparatet i bruk, og ta
vare pa den. Hvis apparatet selges videre, ma man serge for a gi bruks-
anvisningen videre ogsa.

Innhold

1

N OO o A WDN

1

SN 2 <

Symbolforklaringer .. ... . 41
Generelle sikkerhetsregler . ... ... .. . 42
Leveringsomfang. .. ... 42
Malgruppen fordenne veiledningen. . ............. ... ... ........ 43
Tiltenkt bruk. . .. 43
Montere festerammen ... ... 43
Garanti. .« 44
Symbolforklaringer

ADVARSEL!
Sikkerhetsregel: Hvis man ikke overholder denne regelen, kan det
fere til ded eller alvorlig skade.

FORSIKTIG!
Sikkerhetsregel: Hvis man ikke overholder denne regelen, kan det
fare til personskader.

PASS PA!
Hvis man ikke overholder denne regelen, kan det fare til materielle
skader og skade funksjonen til produktet.

MERK
Utfyllende informasjon om bruk av produktet.

41



Generelle sikkerhetsregler CoolAir SP950C

2

Generelle sikkerhetsregler

Produsenten tar i falgende tilfeller intet ansvar for skader:

* Skader pa produktet pa grunn av mekanisk pavirkning og overspenninger

e Endringer pa produktet uten at det er gitt uttrykkelig godkjenning av
produsenten

* Bruktil andre formal enn det som er beskrevet i veiledningen

@

3

PASS PA!
Bevegelsesfriheten til paliggere (de utvendige kantene pa utliggeren
ved innkobling eller baying) og andre pabygg ma ikke begrenses.

MERK
Falg sikkerhetsinstruksjonene i bruksanvisningen for klimaanlegget
CoolAir SP950.

Leveringsomfang

Montasjesett for Iveco Stralis Hi-Way Euro 6,
artikkel-nr. 9100300075

Antall
1
1

4
2
2

j—

6
4
8

Betegnelse Artikkelnummer
Festeramme 4442500826
Monteringsveiledning 4445101052

Skrue M8 x 35 (8.8)

Skrue M8 x 35 (10.9)

Skrue M8 x 40 (10.9)

U-skive M8 (d1=8,4 mm, d2 =16 mm)
U-skive M8 (d1 = 8,4 mm, d2 = 24 mm)

Mutter M8, selvgjengende

Kontroller at alle deler som falger med i leveransen er tilgjengelige for systemet tas i

bruk.

42



CoolAir SP950C Malgruppen for denne veiledningen

4 Malgruppen for denne veiledningen

Informasjonen vedragrende montering i denne veiledningen er utelukkende
beregnet pa fagfolk i verksteder som er fortrolig med retningslinjene og sikkerhets-
foranstaltningene som gjelder for montering av tilbehar pa kjeretayer.

5 Tiltenkt bruk

Monteringsrammen brukes for montering av kondensatorenheten SP950C pa
klimaanlegget CoolAir SP950 pa biler av typen Iveco Stralis Hi-Way Euro 6.
Monteringsrammen er montert til heyre pa den bakre farerhusveggen.

Ved feste av festerammen brukes originale festepunkter pa kjgretayet. Det ma ikke
lages nye hull pa kjgretayet.

6 Montere festerammen

PASS PA!
Installer i falge opplysningene i bruksanvisningen for klimaanlegget

CoolAir SP950.

MERK
Videre bruksinformasjon finner du i bruksanvisningen for klimaanlegget
CoolAir SP950.

Grunnleggende montasje vises i fig. [}, side 3:

Pos. Betegnelse
1 Festeramme
2 Kondensatorenhet
3 Deksel

43



Garanti CoolAir SP950C

Monter festerammen og kondenseringsenheten CoolAir SP950C pa Iveco Stralis
Hi-Way Euro 6 som falger:

MERK
Monter kondensatorenheten farst etter at festerammen er festet pa
lastebilens bakvegg.

» For & feste kondensatorenheten settes de fire skruene M8 x 35 (8.8), atte
U-skivene M8 8,4 x 16 mm og fire festemutrene M8 (fig. n side 3) inn i feste-
rammen og skrues fast.

» Fjern de to skruene M8 fra det averste spoilerfestet (fig. [ 1, side 4).

» Fjern de to blindpluggene under det gverste spoilerfestet fra M8-gjenge-
boringene.

» Festden gverste delen av festerammen pa det gverste spoilerfestet med skruene
M8 x 40 (10.9) (fig. B 1, side 4).

» Fest den nederste delen av festerammen i de apne M8-gjengeboringene med
skruene M8 x 35 (10.9) (fig. B 2, side 4).

» Skyv de fire store U-skivene M8 8,4 x 24 mm som avstandsskiver inn pa de
skruene som stikker ut pa festerammen (fig. ﬂ 2,side 4).

» Sett kondensatorenheten pa de utstdende skruene pa festerammen og skru fast
med de fire U-skivene M8 8,4 x 16 mm og fire festemutrene M8 (fig. , side 4).

» Etter d ha kjert ca. 200 km ma du kontrollere at alle skruene sitter godt fast.

7 Garanti

Lovmessig garantitid gjelder. Hvis produktet skulle veere defekt, sender du det til en
servicepartner i ditt land (du finner adressene pa baksiden av veiledningen).

Vare spesialister hjelper deg gjerne, og avtaler garantiens videre forlap med deg.

44



CoolAir SP950C Symbolien selitys

Lue tama ohje huolellisesti lapi ennen laitteen pystytysta ja kayttoénottoa,
jasailyta ohje. Jos myyt laitteen eteenpaiin, anna ohje tall6in edelleen osta-

jalle.

Sisallysluettelo
1 Symbolienselitys. ....... ... 45
2 VYleisid turvallisuusohjeita . ......... ... . . ... 46
3 Toimituskokonaisuus. . ... ..o o 46
4 Taman kayttdohjeen kohderyhma . ... ... .. ... L. 47
5  Maaraysten mukainen kayttd .. ... 47
6  Asennuskehyksenasentaminen ......... ... ... ... L 47
7 TUOEVAStUU . « v ettt 48

1 Symbolien selitys

Sl 2 <

VAROITUS!
Turvallisuusohje: Huomiotta jattdminen voi aiheuttaa hengenvaaran
tai vakavan loukkaantumisen.

HUOMIO!
Turvallisuusohje: Huomiotta jattdminen voi johtaa loukkaantumiseen.

HUOMAUTUS!
Huomiotta jattdminen voi johtaa materiaalivaurioihin ja haitata tuotteen
toimintaa.

OHJE
Tuotteen kayttda koskevia lisatietoja.

45



Yleisia turvallisuusohjeita CoolAir SP950C

2 Yleisia turvallisuusohjeita

Valmistaja ei ota mitaan vastuuta vahingoista seuraavissa tapauksissa:
* tuotteeseen mekaanisen vaikutuksen tai ylijannitteiden takia syntyneet vauriot
* tuotteeseen ilman valmistajan nimenomaista lupaa tehdyt muutokset

*  kayttd muuhun kuin kdyttdohjeessa ilmoitettuun tarkoitukseen

HUOMAUTUS!
Puoliperavaunujen (puoliperavaunun ulkoreunat kdannettiessa tai taitet-

taessa) ja muiden ajoneuvorakenteiden liikkumavapautta ei saa rajoittaa.

OHJE
Noudata CoolAir SP950 -ilmastointilaitteen asennusohjeen
turvallisuusohijeita.

3 Toimituskokonaisuus

Asennussarja malliin Iveco Stralis Hi-Way Euro 6,

tuotenro 9100300075
Maara  Nimitys Tuotenumero
1 Kiinnityskehys 4442500826
1 Asennusohje 4445101052
4 Ruuvi M8 x 35 (8.8)
2 Ruuvi M8 x 35 (10.9)
2 Ruuvi M8 x 40 (10.9)
16 U-prikka M8 (d1 = 8,4 mm, d2 = 16 mm)
4 U-prikka M8 (d1 = 8,4 mm, d2 = 24 mm)
8 Mutteri M8, itselukittuva

Tarkasta ennen jarjestelman kayttddnottoa, etta kaikki toimituskokonaisuuteen
kuuluvat osat ovat mukana.

46



CoolAir SP950C Taman kayttdohjeen kohderyhma

4 Taman kdyttéohjeen kohderyhma

Tahan ohjeeseen sisaltyvat asennustiedot on tarkoitettu korjaamoiden ammattihenki-
[6kunnalle, joka tuntee ajoneuvojen lisdvarusteiden asennukseen sovellettavat direk-
tiivit ja turvajarjestelyt.

5 Maardysten mukainen kaytto

Kiinnityskehysta kaytetaan CoolAir SP950 -ilmastointilaitteen SP950C -kondensaat-
toriyksik&n asentamiseen ajoneuvoon, joka on tyyppia lveco Stralis Hi-Way Euro 6.
Kiinnityskehys asennetaan oikealle ohjaamon takaseinaan.

Kiinnityskehysta kiinnitettaessa kaytetdan ajoneuvon alkuperaiskiinnityskohtia.
Ajoneuvoon ei tarvitse porata uusia reikia.

6 Asennuskehyksen asentaminen

HUOMAUTUS!
Noudata asennuksessa myds CoolAir SP950 -ilmastointilaitteen

asennusohjeen tietoja.

OHJE
Kayttoa koskevia tietoja loydat CoolAir SP950 -ilmastointilaitteen
kayttdohjeesta.

Perusteellinen asennus 16ytyy: kuva [l sivulla 3:
Kohde Nimitys

1 Kiinnityskehys
2 Kondensaattoriyksikkd
3 Peitekate

47



Tuotevastuu CoolAir SP950C

Asenna kiinnityskehys ja CoolAir SP950C -kondensaattoriyksikkd
Iveco Stralis Hi-Way Euro 6 -rekkoihin seuraavasti:

OHJE
Asenna kondensaattoriyksikkd vasta, kun kiinnityskehys on ensin
kiinnitetty kuorma-auton takaseinaan.

» Aseta kondensaattoriyksikon kiinnittamiseksi nelja ruuvia M8 x 35 (8.8), kahdek-
san U-aluslevya M8 8,4 x 16 mm ja nelja varmistusmutteria M8 (kuva [, sivulla 3)
kiinnityskehykseen ja ruuvaa kiinni.

» Poista molemmat M8-ruuvit ylemmasta spoileripidikkeesta (kuva [ 1, sivulla 4).

» Ota molemmat tulpat pois ylemman spoileripidikkeen alla olevista
M8-kierrerei'ista.

» Kiinnita kiinnityskehyksen yldosa ylempaan spoileripidikkeeseen ruuveilla
M8 x 40 (10.9) (kuva B 1, sivulla 4).

» Kiinnita kiinnityskehyksen alaosa edelld avattuihin M8-kierrereikiin ruuveilla
M8 x 35 (10.9) (kuva B 2, sivulla 4).

» Tyonna nelja suurta U-aluslevya M8 8,4 x 24 mm valikelevyiksi kiinnityskehyk-
sesta ulostyontyville ruuveille (kuva ﬂ 2, sivulla 4).

» Aseta kondensaattoriyksikkd kiinnityskehyksen ulos tyéntyvien ruuvien varaan ja
ruuvaa se kiinni neljan U-prikan M8 8,4 x 16 mm ja neljan varmistusmutterin M8
avulla (kuva , sivulla 4).

» Tarkasta kaikkien ruuvien kireys noin 200 km:n ajon jalkeen.

7 Tuotevastuu

Laitetta koskee lakisaateinen tuotevastuuaika. Jos tuote sattuu olemaan viallinen,
kaanny maasi sopimushuollon puoleen (osoitteet kayttdohjeen takasivulla).

Asiantuntijamme auttavat sinua ja neuvovat sinua tuotevastuun jatkomenettelyn
suhteen.

48



CoolAir SP950C [NoscHeHne CMMBOMOB

MpouTuTe AaHHYIO MHCTPYKLMIO NepPesl MOHTaXOM U BEOAOM
B 3KCMJ/IyaTaumio U coxpaHure ee. B cnyyae nepenpogaxmu npubopa nepe-
AaiTe MHCTPYKLMIO NOKYNaTenio.

OrnaeneHue
1 [TOACHEHME CUMBOIIOB. . . vttt ettt e e e e e et 49
2 Obwwme ykasaHus No TeXHMKe Be30MaCHOCTM. . . ..o e e 50
3 OBEM MOCTABKM .\t ettt e ettt e e e e e e e e e e 51
4 Llenesas rpynna AaHHOM MHCTRYKLUMM . . oot et e e e e e e e e 51
5  /Icnonb30BaHME MO HAZHAUEHMIO . o o .o vttt e e e e e e e 52
6 MOHTaX KPEMEXHOM PAMKM . . ottt e e e e e e e 52
7 TaPaHTUS 53

=B B

NMNoscHeHue cMMBONOB

NPEAYNPEXAEHUE!
YkasaHus no TexHuke 6esonacHocTu: HecobniogeHne Moxet
MPUBECTM K CMEPTENbHOMY MCXOAY UMW TAXENbIM TPaBMaM.

OCTOPOXHO!
YkasaHus no TexHuKe 6esonacHocTu: HecobmiogeHne Moxet
NPWBECTU K TPaBMaM.

BHUMAHME!
HecobnioaeHne MOXeT NPUBECTM K MOBPEXAEHWUSIM U HAPYLIUTL paboTy
npoaykTa.

YKA3AHUE
[lononHutensHas MHOoPMaLKMs MO YIPaBIEHUIO MPOAYKTOM.

49



Obwwme ykazaHus No TexHnke bezonacHoCTH CoolAir SP950C

2

O6Lwume yxka3aHUs No TeXHUKe
6e3onacHoOCTH

13roToBUTENL HE HECET HMKAKOW OTBETCTBEHHOCTM 3a yilepb B CreaytoLmnx cryyasx:

50

[NoBpexaeHWs NpoayKTa 13-3a MeXaHNYECKMX BO3AENCTBUN 1 NepeHanpsxeHni

13ameHeHns B NpoaykTe, BbINOMHEHHbIE 6e3 0AHO3HAYHOTO paspeLleHus
N3rOTOBUTENS

lcnonb3oBaHWe B LENAX, OTINYHbIX OT YKa3aHHbIX B faHHOWM MHCTPYKUNK

BHUMAHMUE!

He nomnxHa orpaHmMumnBaThcs CBOOOAA ABUXEHMS MOMNYNPULENOB
(HapyXHbIX Kpaes nomnynpuyLEena npu NOBOPOTE UMK M3TMbe coeanHeHs)
W OPYMMX HAaBECHbIX Y3MOB aBTOMOOMMS.

YKA3AHUE
CobniogaiTe ykazaHws no TexHuke 6e30nacHOCTM B MHCTPYKUMM MO
MOHTaxXy CTosiHOUYHOrO KoHaumoHepa CoolAir SP950.



CoolAir SP950C ObbeM nocTasku

3 O61em NocTaBKkuU

MoHTaxHbIM komnnekT ans lveco Stralis Hi-Way Euro 6,
Apt. N2 9100300075

Kon-eo HaumeHoBaHue Aprt. N2
1 KpenexHas pamka 4442500826
1 MHCTpyKUMA NO MOHTaxy 4445101052
4 BuHT M8 x 35 (8.8)
2 Bunt M8 x 35 (10.9)
2 BuHt M8 x40 (10.9)
16 MoaknasHas wanba M3
(d1=8,4mm,d2 =16 mm)
4 MoaknagHas wariba M8
(d1=8,4mm, d2 =24 mm)
8 [anka M8, camoctonopsiiasics

I_Iepeu BBOAOM CUCTEMDI B KCNITyaTaUMo NPOBEPbTE, UMEIKOTCA N BCE BXOAdLLne
B 06beM MOCTaBKM AeTanm.

4 LleneBas rpynna AaHHOW MHCTPYKLNUMN

HdpopMaLms Mo MOHTaXy B AaHHOM MHCTRYKUMM NPeaHa3HavYeHa UCKMIOYUTENbHO
AN CNeLManmcToB B MaCTEPCKMX, KOTOPbIE 3HAKOMbI C MPUMEHAEMbIMUL AMPEKTUBAMM
1 Mepamu 6@30MacHOCTM NPKU MOHTaXe KOMMMEKTYIOLMX U MPUHAANEXHOCTEN Ha
aBTOMOOMNN,

51



lcnonb3osaHKWe No HasHayeHuo CoolAir SP950C

5 Ucnonb3oBaHMue NO Ha3HAYEHMUIO

KpenexHas pama CryxuT ans MOHTaxa koHaeHcaTtopHoro 6rnoka SP950C crosHou-
Horo koHamumorepa CoolAir SP950 Ha asTomobunsax Tvna Iveco Stralis
Hi-Way Euro 6. PenexHas pamka KpenuTcs cnpasa Ha 3aaHel CTeHKe KabuHbl.

[Mpu KpenneHnmn KPeNexXHOM PaMKU UCTMONb3YIOTCS OPUTMHANbHbIE TOYKM KpENneHms
Ha asTomobune. Bam He HyXHO BbINOSMHSTL B aBTOMOOUNE HOBbIE OTBEPCTMS.

6 MoHTaX KpeneXHOW paMKu

BHUMAHMUE!
[Mpu MoHTaxe cobnoganTe Takxe MHAPOPMALMIO, MPUBEAEHHYIO
B MHCTPYKUMM MO MOHTaXy CTOSHOUYHOTO koHAMUMoHepa CoolAir SP950.

YKA3AHUE
MHdbopmaums no skcnnyataumm npmeeaeHa B MHCTPYKUMK Mo
3KCMMyaTaunm CToHOYHOro KoHanumoHepa CoolAir SP950.

MpuHLmMn moHTaxa nokasaH Ha puc. [l cp. 3:

Mos. HaumeHoBaHue
1 KpenexHas pamka
2 KoHaeHcaTopHbI Moaynb
3 3aLUnTHBIN KOXYX

52



CoolAir SP950C [apaHTus

YCTaHOBUTE KpenexHyo pamky 1 koHaeHcatopHbi 6riok CoolAir SP950C Ha asTomo-
ouns lveco Stralis Hi-Way Euro 6 cneayiolmm obpasom:

YKA3AHUE
YcTaHaBnmBamTe KOHAEHCATOPHbIN MOAYMb TOMbKO NMOCHE KpenneHus
KpenexHoM pamKu K 3aHen CTeHke aBToMobUrT.

» [Ins yCTaHOBKM KOHAEHCATOPHOIO MOAYMS BCTaBUTL YeThipe BruHTa M8 x 35 (8.8),
BOCEMb NOAKNaaHbIX Wand M8 8,4 x 16 MM 1 ueTbipe NpeaoXpaHUTENbHbIE ranku
M8 (puc. [, cp. 3) B kpenexHyio pamky v MPUBNHTHTS.

» BuiguHTITL 06a BrHTa M8 13 BepxHero aepxatens cnoinepa (puc. B 1, cp. 4).

» Yaanutb 0b6e 3armyLKkm Noa BEPXHUM AepXxaTenem Cromnnepa 13 pe3bboBbix OTBep-
ctmn M8.

» 3aKpenunTb BEPXHIOK YacTb KPEMeXHOW paMbl Ha BEPXHEM JepxaTene cnonnepa
BrHTamMM M8 x 40 (10.9) (puc. ﬂ 1, ctp. 4).

» 3aKpenuTb HUXHIOK YaCTb KDEMNEXHOM PaMbl B OTKPbITLIX Mepes STUM Pe3bhOoBbIX
otBepcTuax M8 suHtamm M8 x 35 (10.9) (puc. ﬂ 2, ctp. 4).

» HageHbTte yetbipe HonbLUMx NoaknaaHbIx Wandsl M8 8,4 x 24 mm B kauecTse pac-
MOPHbIX LWal6 Ha BUHTHI, BLICTyMatoLLMe 13 kpenexHoit pamsl (pvic. [ 2, c1p. 4).

» KoHaeHCaTOpPHbIM MOAYb YCTAHOBUTh Ha BLICTYMAIOLLME U3 KPEMNEXHOM Pambl
BUHTbI 1 MPUBUHTUTb YETbIPbMS NMOAKTAAHBIMU Wanbamm M8 8,4 x 16 Mm 1
YeTbipbMA NpeoxpaHuTensHbiMu raitkamv M8 (pric. [, ctp. 4).

» [locne npoxoxaerus asTomobunem okono 200 kM NpoBepUTs MPOYHOCTb
doMKCaLUMM BCEX BUHTOB.

7 FapaHTus

[levicTuTENEH yCTaHOBMNEHHbIN 3aKOHOM CPOK rapaHTiun. Ecnn npoayKT HemcnpaseH,
obpaTUTeCh B CEPBUCHYIO OpraHusaumio B Balel ctpaHe (anpeca cMm. Ha 060poTHOM
CTOPOHE UHCTPYKLMN).

Halum cneumanunctsl ¢ pagocTsio nomoryT Bam v obcyast ¢ Bamm aansHeriume warm.

53



Objasnienia symboli CoolAir SP950C

Przed instalacja i uruchomieniem urzadzenia nalezy uwaznie przeczyta¢
niniejszg instrukcje. Instrukcje nalezy zachowac¢. W razie odsprzedazy
urzadzenia nalezy jg przekaza¢ kolejnemu nabywcy.

Spis tresci
1 Objasnieniasymboli....... .. ... ... . . . 54
2 Ogodlnezasady bezpieczeAstwa .. ....... ... 55
3 Zakresdostawy ... 55
4 Odbiorcy instrukcji . ... .o 56
5  Uzytkowanie zgodne z przeznaczeniem . .. ... ... 56
6 Montazramy MOCUJACE] . .. oottt 56
7 GWarANCIa . o v et 57

54

=B B

Objasnienia symboli

OSTRZEZENIE!
Wskazowka dot. bezpieczenstwa: Nieprzestrzeganie moze
prowadzi¢ do $mierci lub ciezkich obrazen ciata.

OSTROZNIE!
Wskazowka dot. bezpieczenstwa: Nieprzestrzeganie moze
prowadzi¢ do obrazen ciata.

UWAGA!
Nieprzestrzeganie moze prowadzi¢ do powstania szkdd materialnych
i zaktdcen w dziataniu produktu.

WSKAZOWKA
Informacje uzupetniajgce dot. obstugi produktu.



CoolAir SP950C Ogodlne zasady bezpieczenstwa

2 Ogolne zasady bezpieczenstwa

Producent nie odpowiada za szkody spowodowane:

* uszkodzeniem produktu w sposéb mechaniczny lub spowodowany
przecigzeniami elektrycznymi

¢ zmianami dokonanymiw produkcie bez wyraznej zgody producenta

* uzytkowaniem w celach innych niz opisane w niniejszej instrukcji

UWAGA!
Nie wolno ogranicza¢ swobody ruchu naczep (zewnetrzna krawedz

naczepy przy skrecie lub zginaniu) oraz innych nadbudowanych czesci
pojazdu.

WSKAZOWKA
Nalezy przestrzegac wskazowek bezpieczenstwa zawartych w instrukgji
montazu klimatyzatora postojowego CoolAir SP950.

3 Zakres dostawy

Zestaw montazowy dla Iveco Stralis Hi-Way Euro 6,

Nr produktu 9100300075
llos¢ Nazwa Numer wyrobu
1 Rama mocujaca 4442500826
1 Instrukcja montazu 4445101052
4 Sruba M8 x 35 (8.8)
2 Sruba M8 x 35 (10.9)
2 Sruba M8 x40 (10.9)

—
(&)}

Podkfadka typu U M8
(d1=8,4mm,d2 =16 mm)

4 Podkfadka typu U M8
(d1=8,4mm, d2 =24 mm)

8 Nakretka M8, samozabezpieczajaca

Przed uruchomieniem systemu nalezy sprawdzi¢, czy nie brakuje ktorejkolwiek
czesci objetej zakresem dostawy.

55



Odbiorcy instrukcji CoolAir SP950C

4 Odbiorcy instrukgc;ji

Informacje dotyczace montazu, ktére zamieszczono w tej instrukgji, sg skierowane
wylgcznie do specjalistéw z zaktaddw instalacyjnych posiadajgcych wiedze

w zakresie zalecen i Srodkdw bezpieczenstwa obowiazujgcych podczas montazu
elementdw akcesoriéw w pojazdach.

5 Uzytkowanie zgodne z przeznaczeniem

Rama montazowa stuzy do montazu jednostki sprezarki SP950C klimatyzatora
postojowego CoolAir SP950 w pojazdach typu Iveco Stralis Hi-Way Euro 6. Rama
mocujgce jest montowana po prawej stronie na tylnej $cianie kabiny kierowcy.

Do przytwierdzania ramy mocujacej stosowane sg oryginalne punkty mocowania
znajdujace sie w pojezdzie. Nie ma koniecznosci wykonywania w pojezdzie zad-
nych dodatkowych otwordw.

6 Montaz ramy mocujgcej

UWAGA!
Podczas montazu nalezy takze przestrzegac zalecen zawartych

w instrukcji montazu klimatyzatora postojowego CoolAir SP950.

WSKAZOWKA
Informacje dotyczace obstugi znajduja sie w instrukcji obstugi
klimatyzatora postojowego CoolAir SP950.

Podstawowy montaz przedstawiono na nastepujacych rysunkach: rys. [}, strona 3:

Poz. Nazwa
1 Rama mocujaca
2 Jednostka sprezarki
3 Pokrywa

56



CoolAir SP950C Gwarancja

Rame mocujaca i jednostke sprezarki CoolAir SP950C w Iveco Stralis Hi-Way Euro 6
nalezy zamontowac w nastepujacy sposob:

WSKAZOWKA
Jednostke sprezarki nalezy zamontowac¢ dopiero po przytwierdzeniu
ramy mocujacej do tylnej Sciany samochodu ciezarowego.

» Do zamocowania jednostki sprezarki nalezy uzy¢ czterech érub M8 x 35 (8.8),
o$miu podktadek typu U M8 8,4 x 16 mm oraz czterech nakretek zabezpieczaja-
cych M8 (rys. [l strona 3) i przykreci¢ je do ramy mocujace;.

» Usuna¢ obie éruby M8 z gérnego uchwytu spoilera (rys. [ 1, strona 4).

» Obie zasdlepki ponizej gérnego uchwytu spoilera usuna¢ z otwordw
gwintowanych M8.

» (Gbrng czesc ramy mocujacej przy gérnym uchwycie spoilera przymocowac
$rubami M8 x 40 (10.9) (rys. A 1, strona 4).

» Dolna cze$c ramy mocujacej przymocowac do odstonietych wczedniej otwordw
gwintowanych M8 za pomoca $rub M8 x 35 (10.9) (rys. ﬂ 2, strona 4)

» Na wystajace $ruby na ramce mocujgcej zatozy¢ cztery duze podkiadki
M8 8,4 x 24 mm jako podktadki dystansujace (rys. [ 2, strona 4).

» Jednostke sprezarki nalezy umiesci¢ na wystajacych Srubach, na ramie mocujacej
i przykreci¢ za pomocg czterech podkfadek typu U M8 8,4 x 16 mm oraz czte-
rech nakretek zabezpieczajacych M8 (rys. [, strona 4).

» Wszystkie Sruby nalezy sprawdzi¢ po przejechaniu 200 km pod wzgledem
trwato$ci mocowania.

7 Gwarancja

Obowiagzuje ustawowy okres gwarancji. Je$li produkt jest uszkodzony, nalezy
zgtosi¢ sie do partnera serwisowego w danym kraju (adresy dostepne na odwrocie
instrukgji).

Nasi specjali$ci stuzg chetnie pomoca i omodwia z Painstwem dalszy przebieg
gwarancji.

57



Vysvetlenie symbolov CoolAir SP950C

Pred montaZou a uvedenim do prevadzky si pozorne predéitajte tento
navod a odlozte si ho. V pripade d'alSieho predaja zariadenia odovzdajte
kupujiucemu aj tento navod.

Obsah

1

N OO o A WDN

58

O B

Vysvetleniesymbolov .. ... ... . 58
Véeobecné bezpecnostné upozornenia .. ... 59
Obsah dodavky. . ... 59
Cielovaskupinatohtondvodu . ......... ... ... ... ... ... ... .... 60
Pouzivanievsuladesuréenim ... .. ... ... ... 60
Montdz upevhovaciehordmu. . ........ .. . 60
ZATUKA . 61

Vysvetlenie symbolov

VYSTRAHA!
Bezpecénostny pokyn: Nerespektovanie moze viest’ k smrti alebo
k t'azkému zraneniu.

UPOZORNENIE!
Bezpecnostny pokyn: Nerespektovanie méze viest’ k zraneniam.

POZOR!
NereSpektovanie mdze viest' k materialnym skodam a méze ovplyvnit’
funkciu zariadenia.

POZNAMKA
Doplnujuce informacie k obsluhe vyrobku.



CoolAir SP950C Vieobecné bezpecnostné upozornenia

2 VSeobecné bezpeénostné upozornenia

Vyrobca v nasledujucich pripadoch neprebera za skody ziadnu zaruku:
¢ Poskodenia produktu mechanickymi vplyvmia prepatiami
e Zmeny produktu bez vyjadreného povolenia vyrobcu

¢ Pouzitie na iné Ucely ako su Ucely uvedené v ndvode

POZOR!
Nesmie dojst k obmedzeniu volnosti pohybu navesov (vonkajsie hrany
navesu pri zaboceni alebo vyboceni) a ostatnych pristavieb vozidla.

POZNAMKA
DodrZiavajte bezpecnostné predpisy uvedené v montdznom navode
k pridavnému klimatizacnému zariadeniu CoolAir SP950.

3 Obsah dodavky

Montazna stprava pre lveco Stralis Hi-Way Euro 6,
¢. vyrobku 9100300075

Mnozstvo Oznaéenie Cislo vyrobku
1 Upevnovaci ram 4442500826
1 Montazny ndvod 4445101052
4 Skrutka M8 x 35 (8.8)
2 Skrutka M8 x 35 (10.9)
2 Skrutka M8 x 40 (10.9)
16 Podlozka M8 (d1 = 8,4 mm, d2 =16 mm)
4 Podlozka M8 (d1 = 8,4 mm, d2 = 24 mm)
8 Matica M8, samopoistna

Pred uvedenim systému do prevadzky skontrolujte, Ci su vSetky Casti patriace
k dodavke kompletné.

59



Cielova skupina tohto ndvodu CoolAir SP950C

4 Ciel'ova skupina tohto navodu

Informacie o instalacii nachadzajuce sa v tomto ndvode st adresované odbornikom
v servisoch, ktorf st oboznameni s prislusSnymi smernicami a bezpecnostnymi pred-
pismi, ktoré je potrebné dodrziavat’ pri montazi prislusenstva do nakladnych vozi-
diel.

5 Pouzivanie v sulade s uréenim

Upevnovaci rdm slizi na montaz kondenzatorovej jednotky SP950C pridavného
klimatizacného zariadenia CoolAir SP950 na vozidla typu Iveco Stralis
Hi-Way Euro 6. Upeviovaci rdm sa namontuje vpravo na zadnu stenu kabiny vodica.

Pri upevnovani upevhovacieho rdmu sa pouziju originalne upevnovacie body na
vozidle. Nemusite vytvérat’ na vozidle nové otvory.

6 Montaz upevinovacieho ramu

POZOR!
Pri montazi dodrziavajte aj informéacie uvedené v montdznom navode

k pridavnému klimatizacnému zariadeniu CoolAir SP950.

POZNAMKA
Informacie o obsluhe najdete v ndvode k pridavnému klimatizacnému
zariadeniu CoolAir SP950.

Zakladna montaz je zobrazena na obr. [}, strane 3:

Pol. Oznacenie
1 Upevnovaci rdm
2 Kondenzatorova jednotka
3 Kryt

60



CoolAir SP950C Zaruka

Namontujte upeviovaci ram a kondenzatorovu jednotku CoolAirSP950C na
Iveco Stralis Hi-Way Euro 6 nasledovne:

POZNAMKA
Namontujte kondenzatorovu jednotku az po upevneni upeviovacieho
ramu na zadnu stenu nakladného vozidla.

» Na uchytenie kondenzétorovej jednotky viozte styri skrutky M8 x 35 (8.8), osem
podloziek M8 8,4 x 16 mm a $tyri poistné matice M8 (obr. [}, strane 3) do upev-
novacieho ramu a zaskrutkujte ich.

» Odstrante obe skrutky M8 z horného drziaka spojlera (obr. [ 1, strane 4).

» QOdstrante obe zaslepky pod hornymi drziakmi spojlera zo zavitovych otvorov
M8.

» Hornd Cast upeviovacieho rdmu na hornom drziaku spojlera upevnite skrutkami
M8 x 40 (10.9) (obr. B 1, strane 4).

» Spodnu ¢ast upevnovacieho rdmu do predtym uvolnenych zavitovych otvorov
M8 pomocou skrutiek M8 x 35 (10.9) (obr. ﬂ 2, strane 4).

» Nasunte $tyri velké U podlozky M8 8,4 x 24 mm ako distanéné podlozky na
vystupujlce skrutky na upeviiovacom rame (obr. [J 2, strane 4).

» Kondenzatorovu jednotku nasad'te na vyc¢nievajlce skrutky na upevhovacom
réame a zoskrutkujte so Styrmi podlozkami M8 8,4 x 16 mm a Styrmi poistnymi
maticami M8 (obr. ﬂ strane 4).

» Vsetky skrutky skontrolujte po jazde 200 km, & pevne drzia.

7 Zaruka

Plati zdkonom stanovena zaru¢né lehota. Ak by bol vyrobok chybny, obrat’te sa na
servisného partnera vo vasej krajine (adresy pozri na zadnej strane navodu).

Nasi Specialisti vam radi pomdzu a dohodnu s vami dalsi priebeh zaruky.

ol



Vysvétleni symboll CoolAir SP950C

P¥ed instalaci a uvedenim do provozu si peclivé preététe tento navod
k obsluze a uschovejte jej. V pfipadé dalsiho prodeje vyrobku predejte
navod novému uzivateli.

Obsah

1

N OO o A WDN

62

O B

Vysvétlenisymboll . . ... o 62
Véeobecné bezpecnostnipokyny . ... ... 63
Obsah dodavky. . ... 63
Cilova skupinatohotondvodu . ......... ... . .. 64
Pouzitivsouladusucelem . ... .. ... ... .. . . 64
Montéz upeviovacthordmu. ... 64
ZATUKA o 65
w V4 o
Vysvétleni symbolu
VYSTRAHA!

Bezpecnostni pokyny: Nasledkem nedodrzeni pokynl mohou byt
smrtelna nebo vazna zranéni.

UPOZORNENI!
Bezpeénostni pokyny: Nasledkem nedodrZzeni mohou byt Urazy.

POZOR!
Nedodrzeni pokynd mdze mit za nasledek hmotné skody a narusenti
funkce vyrobku.

POZNAMKA
Doplnujici informace tykajici se obsluhy vyrobku.



CoolAir SP950C Vseobecné bezpecnostni pokyny

2 Vseobecné bezpecénostni pokyny

V nasledujicich pfipadech nepfebira vyrobce zadné zaruky za skody:
* Poskozeni vyrobku plsobenim mechanickych vlivl a prepéti
* 7Zména vyrobku bez vyslovného souhlasu vyrobce

* Pouziti k jinym Gcellm, nez jsou popsany v tomto navodu

POZOR!
Nesmi byt omezena volnost pohybu navest (vnéjsi okraje navésu pfi

zatadceni nebo pfi zalomeni) a jinych nastaveb vozidla.

POZNAMKA
Dodrzujte bezpecnostni pokyny uvedené v navodu k instalaci nezavislé
klimatizace CoolAir SP950.

3 Obsah dodavky

Montéém’sada pro nakladni automobil Iveco Stralis Hi-Way Euro 6,
C. vyrobku 9100300075

Mnozstvi Nazev Cislo vyrobku
1 Upevnovaci ram 4442500826
] Navod k montazi 4445101052
4 Sroub M8 x 35 (8.8)
2 Sroub M8 x 35 (10.9)
2 Sroub M8 x 40 (10.9)

j—

6 Podlozka M8 (d1 = 8,4 mm, d2 =16 mm)
4 Podlozka M8 (d1 = 8,4 mm, d2 = 24 mm)
8

Matice M8 samosvorna

Pred uvedenim systému do provozu se presvedcte o Uplnosti dild, které jsou
soucasti dodavky.

63



Cilova skupina tohoto navodu CoolAir SP950C

4 Cilova skupina tohoto navodu

Informace o instalaci uvedené v tomto ndvodu jsou urc¢eny vyhradné odbornym
pracovnikdm instalacnich servist, ktefi jsou sezndmeni s pouzivanymi smérnicemi
a bezpecnostnimi predpisy pro instalaci pfislusenstvi automobild.

5 Pouziti v souladu s uc¢elem

Upevnovacirdm slouzi k montazi kondenzatorové jednotky SP950C nezavislé klima-
tizace CoolAir SP950 k vozidlliim typu Iveco Stralis Hi-Way Euro 6. Upevinovaci ram
je namontovan vpravo k zadni sténé kabiny fidice.

Pri upevnovani upevnovaciho rdmu jsou pouzivany plvodni upeviovaci body na
vozidle. Do vozidla nemusite vyvrtavat zddné nové otvory.

6 Montaz upevinovaciho ramu

POZOR!
Pri instalaci dodrzujte také informace uvedené v ndvodu k instalaci

nezavislé klimatizace CoolAir SP950.

POZNAMKA
Informace o obsluze naleznete v navodu k obsluze nezavislé klimatizace
CoolAir SP950.

Obecna montaz je patrna na obr. [, strana 3:

Poz. Nazev
1 Upevnovaci rdm
2 Kondenzatorova jednotka
3 Kryt

64



CoolAir SP950C Zaruka

Namontujte upeviovaci ram a kondenzatorovou jednotku CoolAir SP950C
k vozidlu Iveco Stralis Hi-Way Euro 6 takto:

POZNAMKA
Namontujte kondenzatorovou jednotku az po upevnéni upeviovaciho
ramu k zadni sténé nakladniho automobilu.

» Kuchyceni kondenzatorové jednotky vlozte do upevnovaciho rdmu ¢tyfi Srouby
M8 x 35 (8.8), osm podlozek M8 8,4 x 16 mm a Ctyfi pojistné matice M8
(obr. [, strana 3) a prisroubuijte je.

» Odstrante oba $rouby M8 z horniho drzéku spoileru (obr. ﬂ 1, strana 4).
» Odstrante ze zavitovych otvord M8 obé zaslepky pod hornim drzakem spoileru.

» Upevnéte horni dil upeviovaciho rdmu k hornimu drzéku spoileru Srouby
M8 x 40 (10.9) (obr. B 1, strana 4).

» Upevnéte horni dil upeviovaciho rdmu pomoci vyse uvedenych zavitovych
otvort M8 $rouby M8 x 35 (10.9) (obr. ﬂ 2, strana 4).

» Nasadte Ctyfi velké podlozky U M8 8,4 x24 mm na vy¢&nivajici Srouby na upevio-
vaci ram a pouzijte je jako distanéni podlozky (obr. [ 2, strana 4).

» Nasadte kondenzatorovou jednotku na vyénivajici Srouby na upevhovaci rdm
a priSroubujte pomoci ¢tyfech podlozek M8 8,4 x 16 mm a Ctyfech pojistnych
matic M8 (obr. , strana 4).

» Po ujeti cca 200 km dotahnéte véechny Srouby.

7 Zaruka

Na vyrobek je poskytovana zaruka v souladu s platnymi zakony. Pokud je vyrobek
vadny, kontaktujte servisniho partnera ve vasi zemi (adresy viz zadni strana tohoto
navodu).

Nasi odbornici vam radi pomohou a projednaji s vami dalsi prabéh zaruky.

65



A szimbdlumok magyarazata CoolAir SP950C

Beépités és lizembe vétel el6tt gondosan olvassa el és 6rizze meg ezt a
hasznalati utmutatot. A készilék tovabbértékesitése esetén ezt is adja
oda a vevének.

Tartalomjegyzék
1 Aszimbdlumokmagyardzata .......... ... ... ... 66
2 Altaldnos biztonsagiinformaciok . .. .....oue e 67
3 Szlllitdsiterjedelem .. ... 68
4 Az utmutatd célcsoportja . . ..o 68
5 Rendeltetésszerlhaszndlat. . ......... .. o i 69
6  Ardgzitbkeretfelszerelése. ... .. ... 69
7 SZAVAtOSSAQ . . . i 70

06

SH 4 2

A szimboélumok magyarazata

FIGYELMEZTETES!
Biztonsagi tudnivalé: Az utasitas figyelmen kivil hagyasa halalt vagy
sulyos sértilést okozhat.

VIGYAZAT!
Biztonsagi tudnivalo: Az utasitas figyelmen kivil hagyasa sériléseket
okozhat.

FIGYELEM!
Ha nem veszi figyelembe az informaciot, az anyagkarosodast eredmé-
nyezhet, és karos kihatassal lehet a termék mikddésére.

MEGJEGYZES
Kiegészitd informaciok a termék kezelésével kapcsolatosan.



CoolAir SP950C Altalanos biztonsagi informaciok

2 Altalanos biztonsagi informaciok

A gyartd a bekdvetkezd karokért a kdvetkezd esetekben nem véllal felelésséget:
* atermék mechanikai behatasok és tulfeszlltségek miatti sérilése

e atermék kifejezett gyartdi engedély nélkili médositasa

*  az Utmutatdban leirt céloktdl eltérd felhasznalads

FIGYELEM!

A nyergesutanfutok (illetve bekormanyozas vagy behajlas esetén azok
kiilsé peremei) és més jarmfelépitmények mozgasi szabadsaga nem
korladtozodhat.

MEGJEGYZES
Vegye figyelembe a CoolAir SP950 alloklima-berendezés beszerelési
Utmutatdjaban 1évé biztonsagi megjegyzéseket.

6/



SZzallitasi terjedelem CoolAir SP950C

3 Szallitasi terjedelem

Szerelékészlet — Iveco Stralis Hi-Way Euro 6
cikkszdm: 9100300075

Mennyiség Megnevezés Cikkszam
1 Rogzitdkeret 4442500826
1 Szerelési Utmutatd 4445101052
4 Csavar M8 x 35(8.8)
2 Csavar M8 x 35 (10.9)
2 Csavar M8 x 40 (10.9)
16 Aldtét M8 (d1=8,4 mm, d2 =16 mm)
4 Aldtét M8 (d1 = 8,4 mm, d2 = 24 mm)
8 Anya M8, énbiztositd

A rendszer lzembe helyezése elétt ellendrizze, hogy a szallitasi terjedelemhez
tartozd Osszes alkatrész megvan-e.

4 Az utmutato célcsoportja

A jelen Utmutatdban szerepld beszerelési informacidk kizarélag mihelyek azon
szakembereinek szdlnak, akik ismerik a jarmU-tartozékalkatrészek beszerelésénél
alkalmazandd irdnyelveket és biztonsagi évintézkedéseket.

68



CoolAir SP950C Rendeltetésszer(i hasznalat

5 Rendeltetésszerii hasznalat

Ardgzitdkeret a CoolAir SPI50 alloklima-berendezés SP950C kondenzatoregysé-
gének a kdvetkezd tipusu jarmire torténd felszerelésére szolgal: veco Stralis
Hi-Way Euro 6. A rogzitékeret beszerelése a vezetdfilke hatsod falan jobbra torténik.

Ardgzitbkeret rogzitésénél a jarmivon lévé eredeti rogzitéspontok hasznalhatok. A
jarmdvon nem kell Uj furatokat készitenie.

6 A régzitokeret felszerelése

FIGYELEM!
A CoolAir SP950 alloklima-berendezés beszerelésénél vegye

figyelembe a beszerelési Utmutatdban Iévé informacidkat is.

MEGJEGYZES
A kezelésre vonatkozd informaciok a CoolAir SP950 alléklima-
berendezés kezelési Utmutatdjaban taldlhatok.

Az alapveté szerelési informaciok [l bra, 3. oldal itt talalhatok:

Szam Megnevezés
1 Rogzitdkeret
2 Kondenzatoregység

3 Burkoldfedél

69



Szavatossag CoolAir SP950C

Ardgzitdkeretet és a CoolAir SPO50C kondenzatoregységet a kdvetkezd mddon
szerelje fel Iveco Stralis Hi-Way Euro 6 esetén:

MEGJEGYZES
A kondenzatoregységet csak a rogzitdkeret tehergépkocsi-hatoldalon
torténd rogzitését kovetden szerelje fel.

» Helyezze be és csavarozza 6ssze a kondenzatoregység felvételére szolgalé 4 db
M8 x 35 (8.8) csavart, 8 db M8 8,4 x 16 mm alatétet és 4 db M8 biztositéanyat
(n. dbra, 3. oldal) a rogzitdkeretbe.

» Tavolitsa el mindkét M8 csavart a felsé légterel6-tartdrdl (ﬂ. abra 1, 4. oldal).
» Tavolitsa el a felsé légterel6-tartd alatti két vakdugdt az M8 menetes furatokbodl.

» Rogzitse a rogzitdkeret felsé részét a felsé légterelé-tartdon az M8 x 40 (10.9)
csavarokkal (ﬂ. dbra1, 4. oldal).

» Rogzitse a rogzitdkeret alsd részét az elézdleg szabadda tett M8 menetes fura-
tokban az M8 x 35 (10.9) csavarokkal (ﬂ. dbra 2, 4. oldal).

» Toljaanégy nagyméretl M8 8,4 x 24 mm alatétet tavtartd alatétként a rogzitdke-
reten 1évo kiadlld csavarokra (ﬂ. abra 2, 4. oldal).

» Helyezze rd a kondenzatoregységet a rogzitékereten lévo kialld csavarokra és
csavarozza dssze a 4 db M8 8,4 x 16 mm alatéttel és 4 db M8 biztositdanyaval
(K1 dbra, 4. oldal).

» Ellendrizze az 6sszes csavarkotés feszességét kb. 200 km Ut megtétele utan.

7 Szavatossag

A termékre a toérvény szerinti szavatossagi idészak érvényes. A termék
meghibasodasa esetén forduljon az illetékes szervizpartnerhez (a cimeket lasd jelen
Utmutatd hatoldalan).

Szakembereink szivesen nyUjtanak segitséget és felvildgositast adnak a szavatos-
sagra vonatkozé tovabbi tudnivaldkrol.

70






GERMANY

Dometic WAECO International GmbH
HollefeldstraBe 63 - D-48282 Emsdetten

 +49(0) 2572879195 +49 (0) 2572 879-322

dometic.com

Mail: info@dometic-waeco.de

~>DOMETIC

AUSTRALIA

Dometic Australia Pty. Ltd.
1John Duncan Court

Varsity Lakes QLD 4227
1800212121

& +61755076001

Mail: sales@dometic.com.au

AUSTRIA

Dometic Austria GmbH
NeudorferstraBe 108
A-2353 Guntramsdorf
+43 2236 908070
& +432236 90807060
Mail: info@dometic.at

BENELUX

Dometic Branch Office Belgium
Zincstraat 3

B-1500 Halle

+3223598040

& +3223598050

Mail: info@dometic.be

BRAZIL

Dometic DO Brasil LTDA
Avenida Paulista 1754, conj. 111
SP01310-920 Sao Paulo
+551132513352

& +551132513362

Mail: info@dometic.com.br

DENMARK

Dometic Denmark A/S
Nordensvej 15, Taulov
DK-7000 Fredericia

+45 75585966

& +4575586307

Mail: info@dometic.dk

FINLAND

Dometic Finland OY
Mestarintie 4
FIN-01730 Vantaa
+358 20 7413220
& +35897593700
Mail: info@dometic.fi

FRANCE

Dometic SAS

ZA du Pré de la Dame Jeanne

B.P.5

F-60128 Plailly

+33344633525

& +33344633518

Mail : vehiculesdeloisirs@dometic.fr

HONG KONG

Dometic Group Asia Pacific
Suites 2207-11 - 22/F - Tower 1
The Gateway - 25 Canton Road,
Tsim Sha Tsui - Kowloon

7 +85224611386

& +85224665553

Mail: info@waeco.com.hk

HUNGARY

Dometic Zrt. Sales Office
Kerékgyarté u. 5

147 Budapest

+361468 4400

& +361468 4401

Mail: budapest@dometic.hu

ITALY

Dometic Italy S.r.1.

Via Virgilio, 3

1-47122 Forli (FC)

= +390543 754901
& +390543754983
Mail: vendite@dometic.it

JAPAN

Dometic KK
Maekawa-Shibaura, Bldg. 2
2-13-9 Shibaura Minato-ku
Tokyo 108-0023

& +81354453333

& +81354453339
Mail: info@dometic.jp

MEXICO

DometicMx, S.deR.L.deC. V.
Circuito Médicos No. 6 Local 1
Colonia Ciudad Satélite

CP 53100 Naucalpan de Juarez
Estado de México

& +525553744108

& +525553934683

Mail: info@dometic.com.mx

NETHERLANDS
Dometic Benelux B.V.
Ecustraat 3

NL-4879 NP Etten-Leur
& +3176 5029000
& +3176 5029019
Mail: info@dometic.nl

NEW ZEALAND

Dometic New Zealand Ltd.

PO Box 12011

Penrose

Auckland 1642

T +64 96221490

& +6496221573

Mail: customerservices@dometic.co.nz

NORWAY

Dometic Norway AS
Dsteroyveien 46

N-3232 Sandefjord

T +47 33428450

& +47 33428459

Mail: firmapost@dometic.no

POLAND

Dometic Poland Sp. zo.0.
Ul. Putawska 435A
PL-02-801 Warszawa

T +48 22414 3200

& +48 224143201

Mail: info@dometic.pl

PORTUGAL

Dometic Spain, S.L.

Branch Office em Portugal

Rot. de Sdo Gongalone 1-Esc. 12
2775-399 Carcavelos

& +351219244173

& +351219243206

Mail: info@dometic.pt

RUSSIA

Dometic RUS LLC
Komsomolskaya square 6-1
RU-107140 Moscow

& +74957807939

& 4749591656 53
Mail: info@dometic.ru

SINGAPORE

Dometic Pte Ltd

18 Boon Lay Way 06-140 Trade Hub 21
Singapore 609966

& +6567953177

& +656862 6620

Mail: dometic@dometic.com.sg

SLOVAKIA

Dometic Slovakia s.r.o. Sales Office Bratislava
Nadrazna 34/A

900 28 Ivanka pri Dunaji

& +421245529680

Mail: bratislava@dometic.com

SOUTH AFRICA
Dometic (Pty) Ltd.
Regional Office

South Africa & Sub-Saharan Africa
2 Avalon Road

West Lake View Ext 11
Modderfontein 1645
Johannesburg
+27114504978

& +27114504976
Mail: info@dometic.co.za

SPAIN

Dometic Spain S.L.

Avda. Sierra del Guadarrama, 16
E-28691 Villanueva de la Cafada
Madrid

# +34918336089

& +34900100 245

Mail: info@dometic.es

SWEDEN

Dometic Scandinavia AB

Gustaf Melins gata 7

2131 Vastra Frolunda
+46 317341100

& +46 317341101

Mail: info@dometicgroup.se

SWITZERLAND

Dometic Switzerland AG
Riedackerstrasse 7a
CH-8153 Rimlang

= +41448187171

S +41448187191

Mail: info@dometic.ch

UNITED ARAB EMIRATES
Dometic Middle East FZCO
P.O.Box 17860

S-D 6, Jebel Ali Freezone
Dubai

7 +97148833858

& +97148833868

Mail: info@dometic.ae

UNITED KINGDOM

Dometic UK Ltd.

Dometic House, The Brewery
Blandford St. Mary

Dorset DT119LS

+44344626 0133

L +443446260143

Mail: customerservices@dometic.co.uk

USA

Dometic RV Division
1120 North Main Street
Elkhart, IN 46515
+1574-264-2131

4445101052 01/2017



